Air Slide Table

Series MXQ
06, 08, 012, 016, 020, 025

Integration of the guide rail and the table.
Uses a recirculating linear guide for —

high rigidity and high precision. e
Air slide table for precision assembly processes. m:

High precision, compact design Improved load resistance
Comparison of MXQ and MXS (mm) Load resistance against sudden and excessive external
Vi Repeatability Dimensions forces is nearly three times greater than Series MXS. MXF
Parallelism|Height tolerance | - Width Height |Overall length MXW
MXQ12-30 | 0.035 | +0.08 46 30 86 . .
MXS12-30 | 0.2 +0.2 50 32 80 Symmetrlc type IS MXJ

- also standardized. —

Wide variety of adjuster PP 4 Available for all option MXP
option B 7o, plde

> E & ...... Body mounting through-hole
Positioning hole % :

Improved workpiece el E i Auto switch mounting groove MTS
mounting repeatability . T, .+*" Auto switches can be mounted in grooves  —

provided on the side of the body where they

... 4 y do not protrude.
taps ot .
9. Integrating table with guide rail
e o Made of martensitic stainless steel
End plate uses & s
extra super duralumin. o
\

Positioning hole

Reproducibility for
mounting on the body has

L J
NG .
} been improved.

Dual rods G55800005000000,. [(.& PURTLL A, RS Body mounting taps

Twice the output of conventional cylinders e — -
Mounting is possible from

3 directions.

(Except the one with buffer) .

0ot

1. Lateral mounting
(Body tapped)

==

Recirculating linear guide i

Wide type linear guide block body
made of martensitic stainless steel

Wide Variety of Option

Adjuster option and function option can be combined 2. Lateral mounting | 3. Vertical mounting
Symmetric type Adjuster option Functional option (Body through-hole) (Body tapped)
el With stroke adjuster With buffer mechanism
y . - -
BE - LI =- --
e e 3 = /
o ° .
oo : [T
; ° 8. Nt /
e o With end lock

With shock absorber
- - -
-_ - |
- - ﬁ,
. . D '."/'Lh F

-
Y.a\ P
.."f‘-_, _../’/

Application Example _—

As Z-axis for picking For positioning of pallets on a conveyor D'D
and placing ——




air stide Table Series MXQ

Series Variations

Adjuster option

Functional option

Standard stroke (mm) Rubber Shock Metal 5 5 g
Model Bore £ 2 g
size Cstogper‘n Cabscirbe‘rn Cstor;perw é g 55 A St
S & 8 & & 8 56 ¢ B E £ X5
10 20 30 40 50 75 100 125 150 gv SUE 2 E’UE §U gvé £ £ X2
Standard type | Symmetric type | (mm) RS BB X285 3 XS Es3
MXQ 6 MXQ6L 6 Reed auto switch
e D-A90J
MXQ 8 | MXQS8L 8 » D-A90IV
Solid state auto switch
MXQi2 | MXxQi2L | 12 « D-M9O]
MXQ16 | MXQ16L | 16 oMoV
2-color indication
MXQ20 | MXQ20L | 20 solid state auto switch
* D-MOOOW
MXQ25 | MXQ25L | 25 « D-MOCIWV
Adjuster Option Functional Option

& S
3 @e__

Adjuster at extension end

=

Retraction end adjuster

& @—@
S

3 o

Three different types of adjusting bolt have
been standardized for front end rear and double
end adjusters and cushion mechanisms.

B Rubber stopper
Standard stroke adjuster

W Shock absorber
For use in harsh conditions.
Absorbs the impact at the stroke end for
smooth stopping.
Improved stopping accuracy.

B Metal stopper
Improved stopping accuracy.
Without cushioning function for use with
light loads and low speeds.

With Buffer Mechanism

With End Lock

B Protects workpieces and tools, etc., by
eliminating impact at the end of the
extension stroke.

W Buffer unit is auto switch capable.

Buffer mechanism
in operational

condition .
. Normally OFF *
Auto switch ( ON is buffer in operation.)
Magnet
Buffer 9
stroke

[

Normally ON*
OFF is buffer in operation.)

Auto switch (

Normal
condition
* The normally ON/OFF setting is changed by

changing the direction of the auto switch
mounting.

Application Example

In workpiece insertion processes when there is
a problem such as faulty positioning, the buffer
mechanism absorbs the shock from the
workpiece impact to prevent damage.

|

Buffer
mechanism

Air gripper

Workpiece

O
S

B Holds the cylinder's home position to
prevent dropping of the workpiece even if
the air supply is cut off.

Cylinder air

Spring Lock piston supply port

514 [

Locked Unlocked

Axial Piping Type

B Centralized piping in axial direction to
maintain clear space around the body.

HE -

Speed controller

= ==
[ | 1
> 6 %
Do —
> o & ﬁb

89

MXH
MXU
MXS

e
B
"
e
o
s

D-O
-XO

Individual
-XO




Series MIXQ
Model Selection

Model Selection Step Formula/Data

o Operating Conditions

Selection Example

Enumerate the operating
conditions considering the
mounting position and workpiece
configuration.

* Model to be used

* Type of cushion

* Workpiece mounting position
* Mounting orientation

* Average speed Va (mm/s)

Cylinder: MXQ16-50

Cushion: Rubber stopper
Workpiece table mounting
Mounting: Horizontal wall mounting
Average speed: Va = 300 [mm/s]
Load mass: W = 1 [kg]

¢ Load mass W (kg): Fig. (1) L1=10 mm
¢ Overhang Ln (mm) Fig. (2) L2=30 mm
L3 =30 mm
9 Kinetic Energy

E- 1 W \'% 2
Find the kinetic energy E (J) of the == W (o500 Eorl %1220 ¢ (088
load. Collision speed V = 1.4 - Va ) Correction factor 2 1000

- (Reference V =1.4 x 300 = 420

Find the allowable kinetic energy Ea =K. E max values)

Ea (J).

Confirm that the kinetic energy of
the load does not exceed the
allowable kinetic energy.

Load Factor

Workpiece mounting coefficient K: Fig. (3)
Max. allowable kinetic energy Emax: Table (1)
Kinetic energy (E) < Allowable kinetic energy (Ea)

Ea=1x0.11=0.11
Can be used based on E = 0.088 < Ea =0.11

kX Load Factor of Load Mass

Find the allowable load mass Wa (kg).
Note) No need to consider this load

Wa =K 3 » Wmax

Wa=1x1x4=4

factor in the case of using Workpiece mounti.ng coeﬁigignt K: Fig. (3) K=1
perpendicularly in a vertical Allowable load weight coefficient [3: Graph (1) B=1
position. (Define 0t1 =0.) Max. allowable load mass Wmax: Table (2) Wmax = 4
Find the load factor of the load Ol1 = W/Wa Ol1=1/4=0.25
weight Ol1.
EX¥A] Load Factor of the Static Moment
Examine My. Examine Mr.
Find the static moment M (N-m). M =W x 9.8 (Ln + An)/1000 My =1 x 9.8 (10 + 30)/1000 Mr =1 x 9.8 (30 + 10.5)/1000
Correction value of moment center position distance An: Table (3) =0.39 =0.39
Find the allowable static moment Ma = K » ¥ « Mmax A= 30 AB=10.5
Ma (N-m). Workpiece mounting coefficient K: Fig. (3) May =1x1x18=18 Mar = 36
Allowable moment coefficient ¥: Graph (2) Mymax = 18 Mrmax = 36
Maximum allowable moment Mmax: Table (4) ,l; =11 $= 1
Find the load factor Otz of the static Olz = M/Ma - -
moment. Ol2=0.39/18 = 0.022 Ol'2 = 0.39/36 = 0.011
EXk] Load Factor of Dynamic Moment
Examine Mep.
30+ 10.5
Find the dynamic moment Me Me =1/3+We x 9.8 w Mep = 1/3 x 16.8 x 9.8 x ( 1000 ) =22
(N-m). . . 1000 We = 4/100 x 1 x 420 = 16.8
Collision equivalent to impact We = & e W e V A2 =105
&: Bumper coefficient Meap = 1x 0.7 x 18 = 12.6
Rubber stopper without adjuster = 4/100 K=1
Shock absorber = 1/100 Y=0.7
Metal stopper= 16/100 Mpmax = 18
Correction value of moment center position distance An: Table (3) s =22/12.6 = 0.17
Find the allowable dynamic Mea = K ¢ ¥ ¢ Mmax Examine Mey.
moment Mea (N-m). Workpiece mounting coefficient K: Fig. (3) (30 +24.5)
- Mey = 1/3 x 16.8 x 9.8 x =3.0
Allowable moment coefficient ¥: Graph (2) 1000
Max. allowable moment Mmax: Graph (4) We=168
A4=245

Find the load factor Oz of the
dynamic moment.

KX} Sum of the Load Factors

Oz = Me/Mea

Meay = 12.6 (Same value as Meap)
Ol's = 3.0/12.6 = 0.24

Use is possible if the sum of the
load factors does not exceed 1.

220N = Ot + Oz + «+evevee +0n<1

20ln = Ol1 + Olz + O'2 + Oz + OL's
=0.25 + 0.022 + 0.011 + 0.17 + 0.24 = 0.693 < 1
And it is possible to use.



Fig. (1)
Load Mass: W (kg)

Fig. (2) Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm)

air stide Table Series MX Q

Fig. (3) Workpiece Mounting

Coefficient: K

W Pitch moment Yaw moment Roll moment Table mounting
-@—‘ E
<
9] K=1
£ As
g End plate mounting
= -
3 KSi m—— )
L
| a MXU
K=0.6 st
= Mey L
é )’r\
Note) No need to consider o - L}
this load factor in the case of E 9 3 MXF
using perpendicularly in a € ' \
vertical position. T b i \ —
> o i
& 2 z L MXW
Note) Static moment: Moment generated by gravity
Dynamic moment: Moment generated by impact when colliding with stopper MXJ
Table (1) Allowable Kinetic Energy: Emax (J) Table (2) Graph (1) MXP
Allowable Kinelic energy Maximum Allowable Allowable Load Mass Coefficient: f "~
j i Load Mass: Wmax (k
Model Without adjuster Adjuster option ( g) @ 10 MXY
Rubber stopper| Shock absorber | Metal stopper Model  |Maximum allowable load weight 5 AN I
MXQ 6 0.018 0.018 — 0.009 MXQ 6 06 3 07 AN
MXQ 8 0.027 0.027 0.054 0.013 MXQ 8 1 ’a;» MTS
MXQ12 0.055 0.055 0.11 0.027 MXQ12 2 o 05
MXQ16 0.11 0.11 0.22 0.055 MXQ16 4 é 04
MXQ20 0.16 0.16 0.32 0.080 MXQ20 6 3
MXQ25 0.24 0.24 0.48 0.12 MXQ25 9 3 o3
ACaution The maximum operating speed for metal stopper is 200 mm/s. %::s
. agn . s 02
Table (3) Correction Value of Moment Center Position Distance: An (mm) S
Correction value of moment center position distance (Refer to Figure (2).)
A1, A3 50 100 200 300 500 700
Model Stroke (mm) Ao | A | As | Ae Average speed Va (mm/s)
10 20 30 40 50 75 100 | 125 | 150
raph (2
MXQ 6| 145 | 145 | 145 | 185 | 185 — — — — 6 13.5 | 13.5 6 2"ap f)l) M t Coefficient: Y
MXQ 8| 16.5 | 16.5 | 18.5 | 20.5 | 28 28.5 = = = 7 16 16 7 owable Momen oeiticient:
MXQ12| 21 21 21 25 25 34 34 — — 9 19.5 | 19.5 9 1.0
MXQ16 | 27 27 27 27 30 33 425 | 425 | — | 105 | 245 | 245 | 105 = \
MXQ20| 29.5 | 29.5 | 29.5 | 29.5 | 33.5 | 375 | 53.5 | 55 56.5 | 14 30 30 14 & 07 \\
MXQ25| 35.5 | 355 | 355 | 355 | 43 43 50 64 64 16.5 | 37 37 16.5 e
Note) For A2, A4, A5 and As, there is no difference in the corrected values due to the stroke. § 0.5
Table (4) Maximum Allowable Moment: Mmax (N-m) £ 04
Pitch/Yaw moment: Mpmax/Mymax Roll moment: Mrmax E 0.3
Model Stroke (mm) Stroke (mm) o
10 | 20 | 30 | 40 | 50 | 75 [100 125|150 | 10 | 20 | 30 | 40 | 50 | 75 |100 [ 125|150 8
2 02
MXQ 6| 14| 14| 14| 28| 28| — | — | — | — | 35| 35| 35| 61| 51 —| — | — | — 5
MXQ 8| 20| 20| 28| 37| 79| 79| — | — | — | 51| 51| 60| 69| 74 74 — | — | — <
MXQ12 | 47| 47| 47| 72| 72|15 5] —|— [N 1 [ 11 |13 13 | 14 14| — | — 50 100 200 300 500 700
MXQ16 |13 |13 [13 [13 |18 [23 |42 | 42| — |31 [31 [31 |31 [36 | # | #1| 41| — Average speed Via (mm/s)  Collision speed V (mmys)
MXQ20 |19 |19 |19 [19 |27 |36 |84 | 84| 84|47 |47 |47 |47 |57 |66 | 75| 75| 75 Note) Use the average speed when calculating static
MXQ25 (32 |32 |32 |32 |52 |52 78 | 140 | 140 |81 |81 |81 |81 |[110 |110 | 130 | 130 | 130 moment.
Use the collision speed when calculating
Symbol dynamic moment.
Symbol Definition Unit Symbol Definition Unit
An (n =1 to 6) Correction value of moment center position distance mm Va Average speed mm/s -
E Kinetic energy J w Load mass kg D'D
Emax Allowable kinetic energy J Wa Allowable load mass kg - —
Ln(n=1to3) Overhang mm We Weight equivalent to impact kg XD
M (Mp, My, Mr) Static moment (Pitch, Yaw, Roll) N-m Wmax Max. allowable load mass kg -
Ma (Map, May, Mar) Allowable static moment (Pitch, Yaw, Roll) N-m o Load factor — W
Me (Mep, Mey) Dynamic moment (Pitch, Yaw) N-m [3 Allowable load mass coefficient — X0
Mea (Meap, Meay) Allowable dynamic moment (Pitch, Yaw) N-m Y Allowable moment coefficient — -
Mmax (Mpmax, Mymax, Mrmax) | Maximum allowable moment (Pitch, Yaw, Roll) N-m K Workpiece mounting coefficient —
Vv Collision speed mm/s

SvVC

O

91



Air Slide Table

Series MXQ

06, 08, 012, 916, 820, 025

How to Order

MXQ

12

50

AS

FR|-|M9BW

e
Port thread type ® Symmetric type
Nil M thread| 96 to @16 | |Nil| Standard type
Rc L |Symmetric type:
TN NPT | 920, 925
TF G
Bore size/Stroke (mm) l
26 |10, 20, 30, 40, 50
28 |10, 20, 30, 40, 50, 75
212 |10, 20, 30, 40, 50, 75, 100
216 |10, 20, 30, 40, 50, 75, 100, 125
220 |10, 20, 30, 40, 50, 75, 100, 125, 150
225 |10, 20, 30, 40, 50, 75, 100, 125, 150
Adjuster option ¢
Nil Without adjuster
AS Extension end adjuster
AT Retraction end adjuster
A Double end adjuster
BS () | Extension end absorber
BT () | Retraction end absorber
B () Double absorber
CS Extension end metal stopper
CT Retraction end metal stopper
(o] Double metal stopper
ASBT (1) | Extension end adjustor + Retraction end absorber
ASCT | Extension end adjustor + Retraction end metal stopper
BSAT (1) | Extension end absorber + Retraction end adjuster
BSCT (1) | Extension end absorber + Retraction end metal stopper
CSAT Extension end metal stopper + Retraction end adjuster
CSBT (1) | Extension end metal stopper + Retraction end absorber

@,

Note 1) W/ shock absorber is not available

in Series MXQ6.

@

1l
Number of auto switches
':I 217:: Made to Order
1 Functional option n " pos. Refer to page 93 for details.
Nil |Standard type
F | With buffer e Auto switch
R @ |With end lock [ Nil [ Without auto switch (Built-in magnet) |
P Axial piping type * For the applicable auto switch
FR @| With buffer and end lock model, refer to the table below.
FP_| with bfer, Axial pping type | * Ff 1 SRR B s
Note 2) \éVélfiaQsd '\I/?)c(gles not available in to order separately.
Option Combinations
Functional
Adjuster option | Nil F R P FR FP
option
Nil O @) O O O ©)
AS O owl O @) e | O®
AT O O X X X X
A O o® X X X X
BS O X @) ©) X X
BT O O X X X X
B O X X X X X
cs O o®| O @) o | O
CT O O X X X X
c O o® X X X X
ASBT O Oo® X X X X
ASCT O o® X X X X
BSAT O X X X X X
BSCT O X X X X X
CSAT O o® X X X X
CSBT O o® X X X X

(O : Available, X :Not available

Note 3) With the combination of buffer mechanism and extension end
stroke adjuster, the buffer stroke decreases by the amount of
stroke adjusted with the extension end stroke adjuster.

Applicable Auto Switch/refer to pages 1719 to 1827 for the detailed specifications of auto switches.

Electrical 5 Wiring Load voltage Auto switch model |Lead wire length (m) Pre-wired Applicable
Type Special function SRUEED || 5 Output , ' 051|315 i
entry 5 (Output) DC AC |Perpendicular| In-line iy [ | @) | @ [conmector load
< 3-wire (NPN) MONV M9N ® | e 0 O O o
< — 3-wire (PNP) V.12V MOPV | M9P | @ (@ @ O] O |corut
@ @ 2-wire 12V M9BV M9B ® e 0 O O — Rela
-— t | D J— yv
s | Grommet |\ e eny| 24V SV 12y MONWV [ MoNw | ® (@ [®@ (O O | I PLC
| o 3-wire (PNP) ’ MOPWV | MoPW | @ (@ [@[O| O
2 2-wire 12V M9BWV | M9BW | ©® @ @ | O O —
5 3 wire 5V A%V | A% |® | —|® IC circut
s & |(NPN equivalent)) - - - - creutty - —
= Grommet |~ 10V | A93V | A93 | @ |— @ |—| — — | Rela
3 ls1  2-wire | 24V | 12V Y,
e 2 100Vorless| A90V A90 ® | —| 0| — —  |ICcircuit| PLC
x Lead wire length symbols: 0.5 m ... Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt
Tmeeeens M  (Example) MONWM of order.
3m e L (Example) MONWL
5m et Z (Example) MONWZ

* Since there are other applicable auto switches than listed, refer to page 128 for details.
* For details about auto switches with pre-wired connector, refer to pages 1784 and 1785.

* Auto switches are shipped together (not assembled).

92

SVC

O




Air Stide Table Series X Q

Specifications
Bore size (mm) 6 ‘ 8 ‘ 12 ‘ 16 20 ‘ 25
Piping port size M5 x 0.8 Rc 1/8, NPT 1/8, G 1/8
Fluid Air
Action Double acting

Operating pressure

0.15t0 0.7 MPa

Proof pressure

1.05 MPa

Ambient and fluid temperature

—-10 to 60°C

Piston speed

50 to 500 mm/s
(Adjuster option/Metal stopper: 50 to 200 mm/s)

Rubber bumper (Standard, Adjuster option/Rubber stopper)

MXH
MXU
MXS

O
:

93

to . .
"“&‘fer Made to Order Specifications Cushion Shock absorber. (Adjuster. option/Shock absorber)
(For details, refer to pages 1955 to 2021.) None (Adjuster option/Metal stopper) W
Symbol Specifications Lubrication Non-lube —
X7 PTFE grease Reed auto switch (2-wire, 3-wire) MXW
X9 | Grease for food Auto switch Solid state auto switch (2-wire, 3-wire) .
-X11 | Adjusting bolt, long specification (Adjustment range: 15 mm) 2-color indication solid state auto switch (2-wire, 3-wire) MXJ
-X12 | Adjusting bolt, long specification (Adjustment range: 25 mm) Stroke length tolerance i mm MXP
-X16 Heat treated metal stopper bolt (Adjustment range: 5 mm) —
-X17 | Heat treated metal stopper bolt (Adjustment range: 15 mm . MXY
pp! (Adj g ) Optlon AT
-X18 | Heattreated metal stopper bolt (Adjustment range: 25 mm) MT S
-X33 | Without built-in auto switch magnet L
Extension end (AS)
-X39 | Fluororubber seals Stroke adjustment
Rubber stopper i
-X42 | Anti-corrosive specifications for guide section PP Retraction end (AT) range 0 to 5 mm
-X45 | EPDM seals Both ends (A)
For clean room specifications, refer to “Pneumatic Extension end (BS) W/ shock absorber
Clean Series” catalog. Adjuster option Shock absorber Retraction end (BT) | is not available in
Series MXQ6.
Both ends (B)
Extension end (CS)
I R - - Stroke adjustment
etal stopper
pp etraction end (CT) range 0 to 5 mm
Both ends (C)
With buffer (F) W/ end lock is not
Functional option With end lock (R) available in Series
o MXQ6.
Axial piping type (P)
Q * For details of adjuster and functional option, refer to pages 94 and 95 in “Option Specifications”.
Standard Stroke
Model Standard stroke (mm)
MXQ 6 10, 20, 30, 40, 50
MXQ 8 10, 20, 30, 40, 50, 75
MXQ12 10, 20, 30, 40, 50, 75, 100
MXQ16 10, 20, 30, 40, 50, 75, 100, 125
MXQ20 10, 20, 30, 40, 50, 75, 100, 125, 150 o
MXQ25 10, 20, 30, 40, 50, 75, 100, 125, 150 D-O0
-XOI
Individual
-XO




Series MIXQ

Theoretical Output

The dual rod ensures an output twice that of existing cylinders.

ouT

-

IN

(N)

Bore size Rod size Operating Bistoniares Operating pressure (MPa)

(mm) (mm) direction (mm2) 02|03 |04 |05 |06 |07

ouT 57 11 17 23 29 34 40

© 3 IN 42 8 13 17 21 25 29

8 4 ouT 101 20 30 40 51 61 71

IN 75 15 23 30 38 45 53

ouT 226 45 68 90 | 113 | 136 | 158

2 6 IN 170 34 51 68 85 | 102 | 119

ouT 402 80 | 121 161 | 201 | 241 281

s 8 IN 302 60 91 | 121 | 151 | 181 | 211

20 10 ouT 628 126 | 188 | 251 | 314 | 377 | 440

IN 471 94 | 141 | 188 | 236 | 283 | 330

25 12 ouT 982 196 | 295 | 393 | 491 | 589 | 687

IN 756 151 | 227 | 302 | 378 | 454 | 529

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?2)
Mass
(9)
Standard stroke (mm) Additional weight of adjuster option Extra for option
Model Rubber stopper | Shock absorber| Metal stopper | With end | Axial piping type
b 20 eC = 2e i3 || 180 |3 A Evtension end | Retracton end | Etension end | Retracton end | Extensio end | Retacion end With buffer lock (S: StFPOT(e E(;m):‘r;‘))

MXQ 6| 100 | 120 | 140 | 180 | 200 | — — — — 6 5 - — 10 5 25 — 13+0.28
MXQ 8| 140 | 170 | 210 | 250 | 315 | 385 | — — — 10 10 30 23 23 10 35 40 26+0.28S
MXQ12| 335 | 340 | 380 | 450 | 490 | 655 | 745| — — 25 23 47 30 35 23 70 100 43+0.2S
MXQ16| 605 | 610 | 670 | 735 | 835 | 1000 | 1250 | 1400 | — 45 40 75 53 60 40 105 160 55+0.28S
MXQ20| 1100 | 1100 | 1100 | 1200 | 1400 | 1750 | 2350 | 2650 | 2900 | 80 65 | 170 | 120 | 115 65 130 310 166 +0.5S
MXQ25 | 1750 | 1750 | 1750 | 1950 | 2400 | 2750 | 3450 | 4300 | 4700 | 130 | 110 | 220 | 140 | 180 | 110 200 560 240+05S

Option Specifications

Stroke Adjustment Range of Adjuster Option (dentical for extension and retraction ends)

Type

Stroke adjustment range

Rubber stopper

0to5mm

With shock absorber

Refer to the dimensions on page 124.

Metal stopper

0to 5 mm

How to Order Stroke Adjuster (Accessory)

+ Optional wide adjustment range adjuster are available
with rubber stopper and metal stopper.

MXQ—

AS

12

L

X11

Adjuster option l l Symmetric —® Adjustment range
| AS | Rubber |Extension end type Nil 5mm Standard
AT | stopper |Retraction end Nil | Standard type -X11| 15mm Option
| BS | Shock  |Extension end L [Symmetrictype| [-X12| 25mm
BT | absorber |Retraction end . .
| CS |Metal  |Extension end Applicable bore size Q )
CT |stopper |Retraction end 6 o6 Note 3;
8 28
12 012
16 016
20 220
25 | 025
94

Note 1) -X12 (adjusting range: 25 mm) is not available in Series MXQ6.

Note 2) -X11 and -X12 are not available with shock absorber.

W/ Shock absorber is not available in Series MXQ6.

Note 4) For dimensions, refer to pages 122 to 126.
For the symmetric type, refer to the external dimensions symmetrically.
(Symmetric type is what the direction of the adjusting bolt is reversed.)

O
:



air slide Table Series MXQ

Table Accuracy Shock Absorber Specifications
Shock absorber model (RB0805 | RB0806/ RB1007 [RB1411 | RB1412
lRadia' Applicable slide table | MXQ8 | MXQ12| MXQ16 | MXQ20 | MXQ25
clearance Max. energy absorption (J) | 0.98 2.94 5.88 14.7 19.6
l = L Stroke absorption (mm) 5 6 7 11 12
E Max. collision speed (mm/s) 50 to 500
Max. operating frequency (cycle/min) 80 80 70 45 45 7
w MXH
Max. allowable thrust (N) 245 245 422 814 814
Ambient temperature range (°C) —10 to 60 MXU
Spring Extended| 1.96 1.96 4.22 6.86 6.86 L
Model MXQ6 | MXQ8 [MXQ12 MXQ16 | MXQ20[MXQ25 force (N) |Retracted| 383 | 422 | 686 | 1530 | 1598 | |\MIXS
B side parallelism to A side Refer to Table (1). Mass (g) 15 15 o5 65 65
B side raveing parallefm o A sice Refer to Graph (1). Note) The shock absorber service life is different from that of the MXQ
C side perpendicularity to A side 0.05 mm cylinder depending on operating conditions. Refer to the RB Series
- - Specific Product Precautions for the replacement period.
M dimension tolerance +0.08 mm (+0.1 mm) "' MXF
W dimension tolerance 0.1 mm < = e
Radial internal clearance (um)| —4 to O ‘—4 to0 ‘—6 to 0 ‘—10 to 0 ‘—12 to 0 ‘—14 to 0 . e . P 2 MXW
%1) £0.1 mm for 75 mm or longer stroke Wlth End LOCK SpeCIflcatlons {': &
- MXJ
Table (1) B Side Parallelism to A Side (mm) Model MXQ8 | MXQ12 | MXQ16 | MXQ20 | MXQ25 MXP
Bore size (mm) 8 12 16 20 25
Model Stroke (mm) Piston speed 50 to 500 mm/
(o} mm/s
°%® 10 [ 20 [ 30 [ 40 [ 50 [ 75 [ 100 [ 125 [ 150 o ': w 5 T o [ w0 | o | =0 MXY
olding force
MXQ 60.025|0.03 |[0.035|0.04 |0.045| — — — —_ 9 - 5 °
MXQ 80025 |0.03 | 0035|004 |0055]|0.065| — — — Note) For caution on end lock, refer to page 132. MTS

MXQ12|0.03 |0.03 |0.035|0.04 |0.045|0.065|0.075 | — —
MXQ16 | 0.035 | 0.035 | 0.04 | 0.045|0.05 |0.065|0.08 |0.095| —

MXQ20 | 0.04 |[0.04 |0.04 |0.045|0.055|0.07 |0.095|0.105| 0.125 Buffer Mechanism Specifications
MXQ25 | 0.045 | 0.045 | 0.045 | 0.05 |0.06 |0.07 |[0.09 |0.115|0.125

Model MXQ6 | MXQ8 [MXQ12 MXQ16‘MX020 MXQ25

Graph (1) B Side Traveling Parallelism to A Side mm) Bore size (mm) 6 8 12 16 \ 20 25

£ 006 Piston speed 50 to 500 mm/s (Horizontal mounting 50 to 300 mm/s)

£ — Buffer stroke (mm) 5 10

& ol Buffer | Jtoke | 3 5 10 | 138 | 17 | 21

o 004 stroke Maximum

= — | load (N) | stoke 6 8 13 17 25 29

[

g; 0.02 o Note 1) For caution on handling the one with buffer

£ | mechanism,refer to page 132.

% = Note 2) The buffer stroke decreases by the amount of

= stroke adjusted with the extension end stroke adjuster.

0 50 100 150
Stroke (mm)

Applicable Auto Switch to Buffer

Traveling parallelism:
The amount of deflection on a dial gauge when Type model Specifications Electrical entry direction

the table travels a full stroke with the body secured 1 ;
on a reference base surface. D-M9BV | With light, 2-wire

D-M9NV | With light, 3-wire, Output: NPN Vertical
D-M9PV | With light, 3-wire, Output: PNP
* The auto switch for buffer must be ordered separately.

Solid state
switch

D-O
-XO

Individual
-XO

95

O
:



Series MIXQ

Table Deflection (Reference Values)

Table displacement due to
pitch moment load

Table displacement when loads are applied to the
section marked with the arrow at the full stroke.

v

= —

Table displacement due to
yaw moment load

Table displacement when loads are applied to the
section marked with the arrow at the full stroke.

y

Table displacement due to

roll moment load

Table displacement of section A when loads are
applied to the section F with the slide table retracted.

F A F

y !

[ ]

AL —

: ] l:| Lr
gﬁ : QG ﬁﬁ Lr=40 mm
\ I |
z 0.05 JMX06L30 Cle 0.03 MXQ6-30 ; ,E\0.015 MXQ6-10
£ sg | | £ DO E MXQ6-20 | MXQ6-40
£ MXQ6:50 £ E
£ 004 L oz WXQ650 | |t MXG6-30—T WX@8-501
3 / ]38 [ 1 |8 P P
5 wxae2d | | 5 002 WXQe20 | £ o010 YA
: 0.03 yZ NXQG40 | |5 P L |E y
g 002 A |8 e |3 /
g uxaeo | | £ 00" 2 ] ——MXQE10 : | 50005 v
2 o001 7 — k- k-
= L E —1 L
0 10 20 30 : 0 10 20 30 : 0 40 80 120
Load (N) ; Load (N) ; Load (N)
Q8 : QB ﬁa Lr=70 mm
\ ; : \
_ MXQ8-75| | | 003 P MXQ8-1
E 0.6 /] | E . |E NMXQ8-20 MXQ8-30
£ // T MXQ8201 | E o010 7 V4 mgg:.gg_
£ 5 _wxaga0| | | L/ MXQ8;
& L] §oo2 MXQ8-401 | | § / e
£ 004 Dl 2 L |mxas-75| | |£ Z
5 MXQ8-40| | | ¢ pd | D8 L
§ ~uxas2o| | | & L [ L /| /
8 7 xQ8.30| | |8 MXQ8-10| | g5
] / MXQ8-30 | : | MXQ8-50| : |& 4
£ 002 P MXQg-50| : | & 0.1 S XQes0; | |5 /
o // —| | _—mxag10| | | pd s
< P — b Loe
/ ' ;
0 20 40 60 : 0 20 40 60 ; 0 40 80 120
Load (N) ' Load (N) ‘ Load (N)
ﬂ12 Q12 ﬁ12 Lr=90 mm
\ ‘ ‘ I MXQ12-10
2010 MXQ12-100 e Lo 2000 MXQ12-20
Pt i N 12301 | |2 -
S 006 //32312-75 g /// M)‘EQK-E‘;Q b s /// MXQ12-100
€ 0. 4 212301 = 7 XQ12-75. " | E0012
g / /éfmxomo 18 ///// mxar220| | |2 ///
o o N ' o
g 004 / // LonxQr220| |8 /// L 50008 V
5 /| 1 MxQi20] | | 0.1 2 Ll B Y
= = e
/ ' 1
0 20 40 60 80 100 : 0 20 40 60 80 100 : 0 40 80 120 160
Load (N) : Load (N) ‘ Load (N)

96

O
:



air stide Table Series MX Q

The graphs below show the table displacement when the static moment
load is applied to the table. The graphs do not show the loadable mass.
Refer to the Model Selection for the loadable mass.

Table displacement due to
pitch moment load

Table displacement when loads are applied to the
section marked with the arrow at the full stroke.

Table displacement due to
yaw moment load

Table displacement when loads are applied to the
section marked with the arrow at the full stroke.

Table displacement due to

roll moment load

Table displacement of section A when loads are
applied to the section F with the slide table retracted.

F A

I I l F
E—
| : o L
= — ] LI I —
; % ; Lr MXU
3 3 MXS
o016 - 016 - 016 Lr=120 mm g
10t y ‘ 6128 0.04 MX ‘ ‘
_or2 MG WQIBI0 ool || ops Julorsy | | e T o0
€ / / : 3 // i ! £ MXQ16330—7 MXQ16-75 I
£ Ve L e AL E MXQ16140 uxaie-100| |MXF
= / 4 L|E L1/ Juxaieso| | €003 4 MXQ16-125 |
€ 0.08 7’ v Wxoed | | £ oos // // [Aatedn |2 / ,/ —
e s mxaie-30 | : |
5 /// MXQ16:30] | | /é/ 1 | | Booe 7 // MXW
@ : @ Y : @ ——
é_ . // // Mxo1620| | iﬁ_ . /A// /MXQ116 20 iﬁ_ /// MXJ
2 ! @ Y 1 @ ‘A
g N AT Inaen| |3 / | L —matei0| ;| Soor S
P e A o |2 MXP
= ‘ ‘
0 50 100 150 200 : 0 50 100 150 200 : 0 100 200 300 400
Load (N) ' Load (N) ' Load (N) MXY
3 3 TS
620 : QZO : ﬂzo Lr=160 mm L———
[ MXQ20-125 | L | ooe | ‘ WXQ20-10 |
- 0.12 T : . : — g MXQ20-
£ MXQ?0-15} L/ fuxa2075| | E M§823_75 | E oo MXQ20-20 1 ?IIOXOZOJR
= A_Lauxaado | || £ Mxa20.30 | | | T MXQ20-40 / " X
E 7 Iuxq20-50 | | & 0.06 e - /| /Mx@20-100 |
s / MXQ20-100] | |8 A /] bl 3 MXQ20-125
£ 0.08 y / ; b E L MXQA0-1501 ¢ | £ / MXQ20-150
A= |, zo .
5 L 4 | P | 2004 /’/ MXQ2020 | ¢ | £ ////
8 / '/ // . Amxozo-zo |8 Vs " |MXQ20-100] 8 / 74
Fo.04 % | g yz mxa20-0 | | | g 7
2 / / /wxozo-m R 7 /7/ b1 2002 v/
= ~— S ' s ‘
0 100 200 300 : 0 100 200 300 : 0 100 200 300 400 500 600
Load (N) i Load (N) i Load (N)
ﬂ25 : ﬁ25 : ﬁ25 Lr 200 mm
| T
\ MXQ25-150 ] L | 0.08 MXQ25-10 | WXQ25- 50
2% ixazs7s 4 /MX025-40 g 010 MXQ2575 | | | £ uxazs-20 , MXQ25-79
£ MX025-100 / PIE AM%S;&SO_ L€ MXQ25-(40 / /[MXQ25-100 |
T XG5 Mxazs-30 | | |5 008 77 Tuxazsihso| | | 500 77 MXQ25:125
2 / MXQ2550 | : |2 I A A |MXxQ25-150
€ 008 Y A Wzt | g / A Mxa25R0 | | | £ —
[N s | |50 v/ 74 AR A%
v s g s | || 4
5004 A mxazs10 | ¢ |2 004 7/ mxazsi0 | | | B //7
3 e S L — b8 002 /7
o 4 L bole 002 bole /
8 |8 —— PR 4
0 100 200 300 400 500 : 0 100 200 300 400 500 : 0 200 400 600 800
Load (N) ' Load (N) ' Load (N)
D-O
-XO
Individual
-XO
97

O
:




Series IXQ

Dimensions: MXQ6

+ For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)

i 2 x M2.5 x 0.45 thread depth 3
Basic Style P Metal stopper (Refer to page 125.)
Operating port 2 x M5 x 0.8
2 6
3 J | 6 Max. 10 (Retraction end adjuster)
0
@ Note 1) If long bolts are used, they can touch the
g Rl guide block and cause malfunction, etc.
H-E 4 W E Refer to the Specific Product Precautions.
H ) 0 Note 2) Since the table is made of a magnetic
0 v i o substance, it could become magnetized if
0 =052 fi-o: touched by a magnet, etc. This could
cause auto switch malfunction.
Adjuster at extension end
19.5 (Adjuster at extension end) 23 3% depth 2.5 N X M3 x 0.5 thread depth 4 Note 1) Note2) 3
f— | 55
4 Retraction end adjuster
3 . 0
i i ol TTT™Y O/
:8( = 228 t 4 Fr— -
@ S T JENI o N
: 5 Ve, Ba © . -
& o+ 2 AN L S e, IR
2 © gl e {.P, o o I}
R (1) 6 3|2 -
T ® = A
5 o 0
4 B E g = 4 x M2.5 x 0.45 thread depth 3.5
) &
9 — <ﬂ _ ) xF -
B © 11 2 So
3 x M3 x 0.5 thread depth 5 «®
5 M
4 x M2.5 x 0.45 thread depth 2.5
K | 12.5
3 | 65 .
@ 0 Bottom view of MXQ6-30
o (3]
20 16 _ 13
[aV)
@ &
HH
z 2\ 7S W P
&Y &9 N
Y44 N T
L5 & <
(NN-1)xH G
H
10.5 | 5.5 10.5 | ‘ 5.5
FA Fﬁ
H [aV) n oV} [[e)
© )
: KR IEEE )¢l s
HA D D ) fan %_ r— | —)
%_ YOy UV (W S i 1 i ik Y
=N V] ° v
H — &
- i = = =
d o
A B &
Nal 4 [« @ NN x M4 x 0.7 thread depth 8
+0.025 . .
03H9; " depth 2.5 HA GA Section AA Section BB

(mm)
Model F N G H NN | GA | HA I J K M Y4 Y74
MXQ6-10 22 4 6 23 2 13 | 16 9 | 17 | 215 42 |415| 48
MXQ6-20 25 4 13 | 26 2 13 | 26 9 | 27 |315]| 52 | 515| 58
MXQ6-30 21 6 Note) - _Note)) 3 29 | 20 9 | 37 |415]| 62 | 61.5]| 68
MXQ6-40 26 6 11 | 28 3 | 39 | 28 | 16 | 48 |515| 80 | 795 | 86
MXQ6-50 27 6 | 21 | 28 3 | 49 | 28 9 | 65 | 615| 90 | 895 | 96

Note) Refer to the bottom view of MXQ6-30.
98
ZS\NC



Air Slide Table Series MXQ

With buffer (06): MXQ6-COF

3 x M3 x 0.5 thread depth 5
A < < <
8 - o
LS > ¢ ¢
4 28
2
8
22
@
<]
%
N
(o2}
- —H= |
]

# Other dimensions are the same as basic style.

Axial piping type (26): MXQ6-C1CP

[o-o] |

Operating port 2 x M5 x 0.8

== = 3
) . ﬁ\{@
FNZN M NZNY () N @) o
1Y) )+ g ~
5 o6 ¢ 4

5.5

* Other dimensions are the same as basic style.

O
:

99

e
(I

XO

Individual



Series MIXQ

Dimensions: MXQ6L/Symmetric Type

* For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)

Basic style 2z Metal stopper (Refer to page 125.)
Z -l
N i:n o
© &
- &
« 0 Note 1) If long bolts are used, they can
°© 3 ® touch the guide block and cause
\ malfunction, etc.
. Ref h ific P
MBS N 4 x M2.5 x 0.45 thread depth 2.5 Refer to the Specific Product
K 12.5 X o
Note 2) Since the table is made of a
5 M magnetic substance, it could
become magnetized if touched by a
3 x M3 x 0.5 thread depth 5 magnet, etc. This could cause auto
- switch malfunction.
N 0
— 11 <? —)X F g
42, g =4 4 x M2.5 x 0.45 thread depth 3.5
4 c F 3
o )
2 g 0 ]
w) ) (= ~—
o0 T| w0 | B Y
o () CT) (*) O X O N AR\ A
ol T B T AN o
“ 5 RS
< (<
©o|! E P iy 0 { i
A T A,
] Ln.‘ I
4. ° Retraction end adjuster 55 3
Adjuster at extension end
23*0% depth 2.5 N X M3 x 0.5 thread depth 4 Note 1) Note 2)
19.5 (Adjuster at extension end)
0 i Bottom view of MXQ6L-30
[te) iy i = o)
g 0
H ___1_1
+ o o
H
n i
© 3 J I s HD-O0-—66—0
2 1|6 Max. 10 i
(Retraction end adjuster) o
2 x M2.5 x 0.45 thread depth 3 .
Operating port 2 x M5 x 0.8 20 16 13
¢3H9*8'°25 depth 2.5 HA GA
4 NN x M4 x 0.7 thread depth 8
A B
0
Y X B g B
= p! = &
- i T 5 D3 g
i - = = —
00609 Q So ~ S
f * N ' Ll s Qs
JEE' 2 9 gl o g
i ©
}‘A "ﬁ 10.5 5.5 10.5 5.5
T T T
H_ Section AA Section BB
(NN-1)xH G
(mm)
Model F N G H NN | GA | HA 1 J K M 4 Y44
MXQ6L-10 22 4 6 23 2 13 16 9 17 21.5 42 41.5 48
MXQ6L-20 25 4 13 26 2 13 26 9 27 | 315 | 52 | 515 | 58
MXQ6L-30 | 21 6 | M9 M9 3 | 29 | 20 9 | 387 |415| 62 |615| 68
MXQ6L-40 26 6 11 28 3 39 28 16 48 | 515 | 80 | 795| 86
MXQ6L-50 27 6 21 28 3 49 28 9 65 | 61.5| 90 |89.5]| 96
Note) Refer to the bottom view of MXQ6L-30.
100



air slide Table Series MXQ

With buffer (86): MXQ6L-1CIF

19.2

[o-of |

0.3

22

8
4 28
;F
5

i) T T T
|
ﬁo.s thread depth 5

# Other dimensions are the same as basic style.

O|-D &
&
ToRGaToS
(o)
€>@€>

Axial piping type (26): MXQ6L-1C1P

5.5
R r
S o o ®
_——— /@
| | hd

‘ L I

6.3

Operating port 2 x M5 x 0.8

[6-4] |

Lo
D
12.5

e
(I

XO

Individual

+ Other dimensions are the same as basic style.

101

O
:



Series MIXQ

Dimensions: MXQ8

= For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
: Rubber stopper (Refer to page 122.)
Basic style 2x M3 x 0.5 thread depth 4 Metal stopper (Refer to page 125.)

Operating port 2 x M5 x 0.8

7
3.5 J 1 8 Max. 11 (Retraction end adjuster)
<
— 4 ks Note 1) If long bolts are used, they can touch the
17 iR guide block and cause malfunction, etc.
© S ST T T Refer to the Specific Product Precautions.
© feed oo F@*’ A Note 2) Since the table is made of a magnetic
substance, it could become magnetized if
touched by a magnet, etc. This could
Adjuster at extension end cause auto switch malfunction.
23*0% depth 3 N x M3 x 0.5 thread depth 5 Note 1) Note 2)
22.5 (Adjust t extensi
5 (Adjuster a ex‘ensmn end) 4 Retraction end adjuster ~ 6.5 3.5
Y ~
s
A\ 77’\"}:”‘!
S N A
c [ P L
g 5 O O —=0—+ O3 <9 s
ﬁI ). HEIRES ) & ~
b~ S| 4 3
5 s F p -
+- Q
10 2 N ) 8 4 X M3 x 0.5 thread depth 4
-~ 2 12 2~ )X 3
~ oo
2 E)
3 x M4 x 0.7 thread depth 6 ©
6 M
KA 14.6
38 |, 7 NA x M3 x 0.5 thread depth 3.5
K 14.6
38 | 7 Bottom view of MXQ8-30
(s2]
o N 27 23 6
N
- ™ —
[ pis o H
D) © @ @ o——0
Z H\Y
zz G
(NN-1)xH G
H
125 | 5.7 12.5 5.7
-4 5 )
— N 0 N [Te]
I 3 sl g5 8 JesH) €ls
&) &) —1 ¥
it < D
\ A—— 1l - E
A
4
= Y ©1 /NN x M4 x 0.7 thread depth 8
3H9*0 % depth 3 HA - GA_.| %
700 P S|  Section AA Section BB
a
%o
(o]
B
(mm)
Model F N G H | NN | GA | HA | J K |KA[NA | M 4 Y44
MXQ8-10 25 4 7 25 2 13 19 11 17 | 235 | — 4 46 | 45.5| 53
MXQ8-20 25 4 14 28 2 14 28 10 28 | 8335 | — 4 56 | 55.5| 63
MXQ8-30 26 | 6 | N9 N® 3 | 29 | 27 | 12 40435 | — | 4 70 | 695 77
MXQ8-40 32 6 8 31 3 39 31 14 52 | 535 | — 4 84 | 835 91
MXQ8-50 46 6 8 29 4 37 58 13 78 | 635 | 825| 8 109 |108.5| 116
MXQ8-75 50 6 31 30 4 61 60 12 105 | 88.5 [1125]| 8 135 |134.5] 142

Note) Refer to the bottom view of MXQ8-30.
102
ZS\VC



air stide Table Series MX Q

With shock absorber (08): MXQ8-CJTIBS/BT/B

Shock absorber at retraction end
25 Shock absorber at extension end 25

2Note) Max. 23 2 Note)
0
= 8 Max. 32
f , S B! r—
. — ! ' MXH
Stroke Adjustable Range O il e —
(mm) © © @ 2 @ z_ﬁu MXU
Extension end |Retraction end 1L @ 4 /-
20 20 5 © © © .
MXS

= Other dimensions are the same as basic style. Note) Note that the top of the shock absorber unit will be higher than that of the table.

With buffer (28): MXQ8-C1CIF %
s MXW
6‘2" © © © —
33 o N — MXJ
EEI + - Q ) Y e —
MXP
5 28.5 W
ﬂ’ o 22.5 ——
3 x M4 x 0.7 thread depth 6 S MTS
o [ee] T
a
# Other dimensions are the same as basic style.
. 4 Operating port 2 x M5 x 0.8
With end lock (28): MXQ8-CCIR PO POrE TR
<}
o @ {E} By 2
oo || %
16
)
- iy ‘
© © ©
& () o (D) !
) ) ) |
L =1 (1
* Other dimensions are the same as basic style. ' o élu
Axial piping type (28): MXQ8-C1CIP 12
__H. 0
facal 3
1 |$ $|:l Operating port 2 x M5 x 0.8
@
© —_—
| | Y |
r\_‘I B | 14 D'D
© © © - ﬁr -XO
7 (D) @ )
v\ >\ - Mo
& & & Individual
-XO
* Other dimensions are the same as basic style. 6.5

103

O
:



Series MXQ

Dimensions: MXQ8L/Symmetric Type

= For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)

Basic style Y4 N Metal stopper (Refer to page 125.)
Y4
o T ™
— [
o -0 &
&)
o 38 |7 <~
K 14.6
NA x M3 x 0.5 thread depth 3.5
38 |7
KA 14.6
Note 1) If long bolts are used, they can touch the
6 M guide block and cause malfunction, etc.
Refer to the Specific Product Precautions.
Note 2) Since the table is made of a magnetic
substance, it could become magnetized if
3 x M4 x 0.7 thread depth 6 ™ touched by a magnet, etc. This could
N - cause auto switch malfunction.
- -1)xF =
10 ) 12 2 &
] c o
[5) 4 x M3 x 0.5 thread depth 4
5 c F . 8
2 ™
= _&) _
=0 5 st
NI = © © © G @ -
< | g 7S D)« > A I o o VY Y
« 2 R NZA| & N7z e -l o8
A, =4 Q' @ p = 1—*—:\ % @ f
< = 2 iirJ SHeor—
0 i e - ~ . ' -
© Retraction end adjuster
6.5 3.5
Adjuster at extension end 23 *8'03 depth 3 N x M3 x 0.5 thread depth 5 Note 1) Note 2)
22.5 (Adjuster at extension end)
Bottom view of MXQ8L-30
0 == Do — e & —
5 T ERINRIE e
o : | B
h:"\ -(} § DA DA o
—_— 5 w A4 w W A4 7
~l 35 J IRE B
2 ! . ) 27 23 6
Max. 11 (Retraction end adjuster)
2 x M3 x 0.5 thread depth 4 Operating port 2 x M5 x 0.8
(3]
<
a
(]
m‘U
23H9*3 % depth 3 HA . GA %O
3
A 4 £ % NN X M4 x 0.7 thread depth 8
p— x]
- B e D €
R A A ", o ===
HHr o i ﬁ ol 5 o i o 3
= 3 g g S
A
= H fg 12,5 | 5.7 12.5 5.7
(NN-1)xH G Section AA Section BB
(mm)
Model F N G H NN | GA | HA 1 J K KA | NA M y4 2Z
MXQ8L-10 25 4 7 25 2 13 19 11 17 | 235 | — 4 46 | 45.5| 53
MXQ8L-20 25 4 14 28 2 14 28 10 28 | 335 | — 4 56 | 55.5| 63
MXQ8L-30 | 26 | 6 | ™9 N9 3 | 29 | 27 | 12 40 435 | — | 4 70 | 69.5| 77
MXQ8L-40 32 6 8 31 3 39 31 14 52 | 535 | — 4 84 | 835 91
MXQ8L-50 46 6 8 29 4 37 58 13 78 | 635 | 825| 8 109 | 108.5| 116
MXQ8L-75 50 6 31 30 4 61 60 12 105 | 88.5 [1125]| 8 135 |134.5] 142

Note) Refer to the bottom view of MXQ8L-30.

104



Air Slide Table Series MXQ

With shock absorber (08): MXQ8L-CICIBS/BT/B

Stroke Adjustable Range
(mm)

Extension end |Retraction end
20 20

11.5

© © ©
Heo—o—0F
© © ¢ = -
11
—H o Ny .
U= ax. 32
2Note) | Max, 23

25

* Other dimensions are the same as basic style

With buffer (08): MXQ8L-CCIF

3 x M4 x 0.7 thread depth 6

10

12
|

34
24

+ Other dimensions are the same as basic style

With end lock (08): MXQ8L-COCIR

# Other dimensions are the same as basic style

Shock absorber at extension end

2 Note)

25

Shock absorber at retraction end

Note) Note that the top of the shock absorber unit will be higher than that of the table.

Axial piping type (28): MXQ8L-C1CIP

* Other dimensions are the same as basic style

(3]
N
“ lo-of |
© 225
o
28.5
%@—i—@—%@
& © ©
[ — =
& © ©
P - @ 0
P @ - ?r
© © ©
T Tl
16 ™
L el [ ¢
Il . 0
o @ {E} =
4 Operating port 2 x M5 x 0.8
6.5
& © © _
D —o—&- - ©
© © © & -
I-’_‘| q (| T+
= b E— Y T
@
© .
= o 9[:[ Operating port 2 x M5 x 0.8
inal )
! 3
12,

105

MXH
MXU
MXS

MXF

B
"
e
o

MTS

D-O
-XO

Individual
-XO




Series MIXQ

Dimensions: MXQ12

Basic style

2 x M4 x 0.7 thread depth 6

+ For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.

Rubber stopper (Refer to page 122.)

Metal stopper (Refer to page 125.)

Operating port 2 x M5 x 0.8

2 .95
475 J | 10 Max. 13 (Retraction end adjuster)
Note 1) If long bolts are used, they can
0 — 11 touch the guide block and cause
© - & malfunction, etc.
H s -+ © Refer to the Specific Product
I — B © Precautions.
A ;i |@@D Fo o} I Note 2) Since the table is made of a
— -3-4 magnetic substance, it could
become magnetized if touched by a
. . magnet, etc. This could cause auto
Adjuster at extension end switch malfunction.
29.5 (Adjuster at extension end N x M4 x 0.7 thread depth 5 Note 1) Note 2)
(i ) 24H999% gepth 4 £ 8, .45
Retraction end adjuster
5
=) - BREAITS
2 - A
2 : ® a2 F g
2 5 7Z5Y 773 @ Al
I Q i i | I PR
” 5 @ & © SEIN g
x
\ 2 ¢ © AW &
©
g b= 5| T N
— 17] —
5, =2 F i ‘2
13 < N_N\F B 4 x M4 x 0.7 thread depth 6
DL 16 2~ X 3
T g
?O
3 x M5 x 0.8 thread depth 8 2
M <
KA 18.5
85 NA x M4 x 0.7 thread depth 4
K 1885 Bottom view of MXQ12-40
™ 5 -
<] > 39 29 9
N © [ H
N < 8
1D B o P
INAA Y hd
Y4
Y44 N — [ [
(NN-1)xH G
H 168 16 8
kA "B
i N % 0 o ARE
3 + oo T 4 ©| ®»
I S ala| ® b SIS
AAND AN o o !
INAA AL N b T
2 + +
i L ) \ -] [ J
t A B
= 5 — s NN x M5 x 0.8 thread depth 10
< - .
0030 HA . GA .| B  Section AA Section BB
24H9*3%% depth 4 S
g
?O
[
e
(mm)
Model F N G H | NN | GA | HA | J K | KA[NA | M 4 Y74
MXQi2- 10 28 4 18 32 2 18 32 12 34 | 265 — 4 67 66 76
MXQi2- 20 28 4 18 32 2 18 32 12 34 | 365 — 4 67 66 76
MXQi2- 30 38 4 20 40 2 20 40 14 42 | 465 — 4 77 76 86
MXQ12- 40 | 34 6 | e M) 3 | 38 | 39 | 15 58 | 56.5| — | 4 94 | 93 | 103
MXQ12- 50 34 6 9 39 3 48 39 13 70 | 66.5| — 4 104 | 103 | 113
MXQi2- 75 36 8 23 36 4 59 72 17 110 | 91.5(117.5| 8 148 | 147 | 157
MXQ12-100 36 10 12 36 5 84 72 17 135 [116.5|1425| 8 173 | 172 182

Note) Refer to the bottom view of MXQ12-40.

106



air slide Table Series MXQ

With shock absorber (912): MXQ12-CJCBS/BT/B

Shock absorber at extension end Shock absorber at retraction end

29.5 Max. 18 29.5
10 /Max. 30
2 | ! = [ ]
Stroke Adjustable Range I i i MXH
(mm) & — @ — -
Extension end|Retraction end & N & & —@—:E* Joe MXU
18 18 & & 5 M
MXS

* Other dimensions are the same as basic style.

With buffer (g12): MXQ12-O0F MXF
A = MXw
@ —
SR 6 *D———& 1 MXJ
MXP
5 37
13, o 29 MXY
3 x M5 x 0.8 thread depth 8 | ® $| | MTS
# Other dimensions are the same as basic style.
With end lock (Q1 2) MXQ12-000R 5 Operating port 2 x M5 x 0.8
F‘i’ © ® | 2/
¢ o *
22
]
P == 4@%
$ % %
D — O o
% & % :
] — =
= Other dimensions are the same as basic style.
Axial piping type (912): MXQ12-0OOP BN
e I o
e Operating port 2 x M5 x 0.8
oo o
== = — —
: © D-O
% & % _ (F —
—oO— O f S -XO
4 & © € —
- Individual
-XO
8.5 EE—

# Other dimensions are the same as basic style.

107

O
:



Series MUIXQ

Dimensions: MXQ12L/Symmetric Type

Basic style

+ For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)

Y44
Metal stopper (Refer to page 125.)
Y4
) ji= o g
5 €| ©
(s2]
pid 5 85
K 185 NA x M4 x 0.7 thread depth 4
5 85
KA 185 Note 1) If long bolts are used, they can touch the guide
block and cause malfunction, etc.
8 M Refer to the Specific Product Precautions.
= Note 2) Since the table is made of a magnetic substance,
3 x M5 x 0.8 thread depth 8 < it could become magnetized if touched by a
N _§ magnet, etc. This could cause auto switch
13 :g‘ 16 <?—>x F g malfunction.
] ) go
5 s F > w| 4xM4x0.7 thread depth 6
2 T o
@ =3 -
g
22 HiE ’
TZNCAN 5| © 8
) Y Slel | ¢ ? © SO
ol TP Al 3 N7 SN — . 7Y ) 1 olgle RS
o \\t% hd 2 PAMAN 7NN s .~ 1 N2 &/ - o = IBANG
5} < @ 0 @ = Sy <
-
o -
- L= T N
7 T |
St Lo
N x M4 x 0.7 thread depth 5 Note 1) Note 2) /:etraction end adjuster 8 45
B4H9 *0%%° depth 4\ Adjuster at extension end
29.5 (Adjuster at extension end)
b il o
© it i1 it 0
i — -+ @ Bottom view of MXQ12L-40
— ’ — @
0 J | 10 ]
4.75 H
2XxM4 x 0.7 thread depth 6 Operating port 2 x M5 x 0.8 DD A& A
2 95 INAA N ¢ b
Max. 13 (Retraction end adjuster)
< C_H
£
&
o 39 29 9
04H9 *3°% depth 4 HA GA So
5 (2]
A B %
- |— NN x M5 x 0.8 thread depth 10
R I = ?
> V4 !
i \ R
AN AN Pas) o [ 1 [
INAAZR A4 Y i hd = I s
[\ vl o o | o
! | QN | R
= il GBEEE RS GiE
A H B 16 |8 16 |8
(NN-1)xH G Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M y4 Y44
MXQ12L- 10 | 28 4 18 32 2 18 32 12 34| 265 — 4 67 66 76
MXQ12L- 20 | 28 4 18 32 2 18 32 12 34| 365 — 4 67 66 76
MXQ12L- 30 | 38 4 20 40 2 20 40 14 42 | 465 — 4 77 76 86
MXQ12L- 40 | 34 6 | o ) 3 | 38 | 39 | 15 58 | 565 — | 4 94 | 93 | 103
MXQ12L- 50 | 34 6 9 39 3 48 39 13 70 | 66.5| — 4 104 | 103 | 113
MXQ12L- 75| 36 8 23 36 4 59 72 17 110 | 91.5|1175| 8 148 | 147 157
MXQ12L-100 | 36 10 12 36 5 84 72 17 135 |116.5[1425]| 8 173 | 172 | 182

Note) Refer to the bottom view of MXQ12L-40.

108




Air Stide Table Series MX Q

With shock absorber (012): MXQ12L-OOCBS/BT/B

[ |o
©
LA ROECE
)
S Rl
=

11 —
Stroke Adjustable R?:%e) o L 1 H— Mex. 30 MXH
Extension end|Retraction end 29.5 Max. 18 295 | MXU
18 18 Shock absorber at extension end L
Shock absorber at retraction end st

# Other dimensions are the same as basic style.

With buffer (g12): MXQ12L-O0OF MXE
. MXW
3 x M5 x 0.8 thread depth 8 & | | |
) LA 4 MXJ
<1_3> ) 29 ——
S 2 MXP
8 - xr_
? & © S —"L MTS
7 X ® ® ® S
# Other dimensions are the same as basic style.
With end lock (212): MXQ12L-OOCOR
— - Eﬂ
© - © - ©
———— ©
© © © | g
== = |
22 (<)
'L X 5
RS @ | \®
5 Operating port 2 x M5 x 0.8
* Other dimensions are the same as basic style.
Axial piping type (212): MXQ12L-OOIP 8.5
® ® % R
SLD) N7 D) <}
T\ ~ Y N2 ¥ P o
© © © (_I\j
—r o D-O
. @ [g—
& o @ Operating port 2 x M5 x 0.8 'XI:'
-Hr A J 3 Individual
— = -XO

# Other dimensions are the same as basic style.

ZS\VC 109



Series MIXQ

Dimensions: MXQ16

Basic style

36.5 (Adjuster at extension end)

11

2 x M5 x 0.8 thread depth 8

* For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)
Metal stopper (Refer to page 125.)

Operating port 2 x M5 x 0.8

12 Max. 12 (Retraction end adjuster)

5.5

11

\

Note 1) If long bolts are used, they can touch the
guide block and cause malfunction, etc.

Y
A4

Refer to the Specific Product Precautions.
Note 2) Since the table is made of a magnetic

T
—n
i

substance, it could become magnetized if
b touched by a magnet, etc. This could

'apad

[6:8] ool

Adjuster at extension end

cause auto switch malfunction.

N x M5 x 0.8 thread depth 6 Note 1) Note 2) 11 5.5
\ 25H9*5%%° depth 5 e
\ 6 Retraction end adjuster
T e 72 1
) _H T, o
c = N
5| [ —7 1T J — 39— 1 N\ @
S @ & ¢ S
o 2 7N A A i 3| 2|8 NIy
N £ -\ T N7 -5 o AR
: MEIE & > O\ o
B «© 5 | o N JA}
¥ A} % ; =
2 © —
6.5 2 F <
- o
14 3 N 3 4 x M5 x 0.8 thread depth 7
= 21 2~ IxF 8
3 x M6 x 1 thread depth 10 ?c':
I
10 M 0
KA 21 Bottom view of MXQ16-50
55 10 NA x M5 x 0.8 thread depth 6.5
K 21 45 35 13
@ 5.5 10
~ o [H
3 N~ L
3 Ol A AR A A Pasy
-t I ZAC A @
z J_'
7 - @ @
(NN-1)xH G
A H - 21 9 21 .9
- -°
.; - @@ o8 - @ RE
n [N [Te} |
J__ Q ¢ |l ® Q| @
A A B A A D : —
N A O - , =
It : : K
"i C_H oy 3 JD
; P) O
A 6 }‘E it NN x M6 x 1 thread depth 12
05H9 *$%%° depth 5 HA GA g . .
: P 3 Section AA Section BB
(=]
>
E (mm)
Model F N G H | NN | GA | HA | J K | KA|NA | M Y4 2Z
MXQ16- 10 38 4 18 39 2 18 39 12 40 28 — 4 78 77 89
MXQ16- 20 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16- 30 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16- 40 58 4 19 58 2 19 | 58 12 60 58 — 4 98 97 | 109
MXQ16- 50 | 40 6 | oo Nl 3 48 | 45 | 20 68| 68 | 91| 8 | 114 | 113 | 125
MXQ16- 75 46 6 21 52 3 73 52 15 105 93 | 123 8 146 | 145 157
MXQ16-100 44 8 36 44 4 80 88 18 145 | 118 | 166 8 189 | 188 | 200
MXQ16-125 44 10 17 44 5 105 88 23 165 | 143 | 191 8 214 | 213 | 225

Note) Refer to the bottom view of MXQ16-50.

110

O
:



Air Slide Table Series MXQ

With shock absorber (o16): MXQ16-C1C1BS/BT/B

Stroke Adjustable Range

(mm)

Extension end

Retraction end

22

22

12.5

# Other dimensions are the same as basic style.

With buffer (o16): MXQ16-C0F

54
42

21

3 x M6 x 1 thread depth 10

= Other dimensions are the same as basic style.

With end lock (216): MXQ16-0100R

# Other dimensions are the same as basic style.

Shock absorber at extension end

Shock absorber at retraction end

Axial piping type (216): MXQ16-C0P

# Other dimensions are the same as basic style.

36.5 Max. 20 36.5
O 12 /Max. 34
I =T o I
ﬁ\ *@ ‘Q — ) H NS @@
N2 - i
oo &6 od
W &
(Do, L
: S S S
o & @ @_@___@_
) 2 & ©
.65 41
15.5 ) 30
- oo |
6 Operating port 2 x M5 x 0.8
— _¢_ | [
H_& < ® g / &
-0 -
25
© & < %
o0 7N 77 0 @%
&/ - 7 N 9
& R0 ©
i D
‘J_“.
BN ol 5| ..
L .I Operating port 2 x M5 x 0.8
oo | 2
- Sr ] [ _ D-0O0
@ @ ¢ -
D—o O °® B b =
CR S :
AN
ZS\C "



Series MIXQ

Dimensions: MXQ16L/Symmetric Type

= For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.

. Rubber stopper (Refer to page 122.)
Basic Style z - Metal stopper (Refer to page 125.)
Y4
- =
3 I E—
©-0| | O-f—
[s2)
® 55| |10
K 21
NA x M5 x 0.8 thread depth 6.5
55 | |10
KA 21 Note 1) If long bolts are used, they can touch the guide
block and cause malfunction, etc.
10 M Refer to the Specific Product Precautions.

Note 2) Since the table is made of a magnetic substance,

3 x M6 x 1 thread depth 10 2 it could become magnetized if touched by a
—~ (ﬂ _bx F §' magnet, etc. This could cause auto switch
J4, 2 21 2 3 malfunction.
] =3
65 s F @ 0 4x M5 x 0.8 thread depth 7
B T [s)
c 7] -
[Te) W) _2 =
b o
7 © & > &
o | N
z PN 25 17> 3 N 2|
=3 Y N A\ -3 0 o
< A . o
2 | [fe o g o &
[9V) . i
- L= P
— P
L Xy 6 Retraction end adjuster L
140,030 Adjuster at extension end N X MS x 0.8 thread depth 6"t ) More2 1 55
@5H9 """ depth 5
36.5 (Adjuster at extension end) Bottom view of MXQ16L-50
i O0] [6-61—] .
g i i ©
@7 1
- _: 1 7 © /{) .T} ‘_i __:_
— — T ©o0 ©o o
o 55 ) | |12 N A
3 11 _ ° I
2 x M5 x 0.8 thread depth 8 Operating port 2 x M5 x 0.8, e H
k=S
[
Max. 12 (Retraction end adjuster) 2 45 35 13
S
@5H9* 3% depth 5 HA GA . 5
A 6 B
. R l— NN x M6 x 1 thread depth 12
-l m ® = L ; Y
<
IH] & (/|
A - A A o —— [ — [
g2 @ @ ==R8 =S ER
- Ll vl = ©
IH] g {}% 2/l g @ wIRE
— LN S L 8
LA H B 21 |9 21 |9
(NN-1)xH G, Section AA Section BB
(mm)
Model F N G H | NN | GA | HA | J K |KAINA | M 4 2z
MXQ16L- 10 | 38 4 18 39 2 18 | 39 12 40 28 — 4 78 77 89
MXQ16L- 20 | 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16L- 30 | 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16L- 40 | 58 4 19 58 2 19 58 12 60 58 — 4 98 97 109
MXQ16L- 50 | 40 6 | 9 L9 3 48 | 45 | 20 68| 68 | 91 | 8 | 114 | 113 | 125
MXQ16L- 75 | 46 6 21 52 3 73 52 15 105 93 | 123 8 146 | 145 157
MXQ16L-100 | 44 8 36 44 4 80 88 18 145 | 118 | 166 8 189 | 188 | 200
MXQ16L-125 | 44 10 17 44 5 105 88 23 165 | 143 | 191 8 214 | 213 | 225

Note) Refer to the bottom view of MXQ16L-50.
112



Air Slide Table Series MXQ

With shock absorber (016): MXQ16L-CJBS/BT/B

5

¥

36.5

Shock absorber at retraction end

o

Operating port 2 x M5 x 0.8

Operating port 2 x M5 x 0.8

E)\‘:} @ @ @
- OO0
© i
) I *4@ Q’ — 1
Stroke Adjustable Range <~ = : . H I
(mm) 1t
Extension end|Retraction end = 12 | \Max. 34
22 22 36.5 Max. 20
Shock absorber at extension end
* Other dimensions are the same as basic style.
With buffer (g16): MXQ16L-CICIF
~
3 .
o] |
3 x M6 x 1 thread depth 10 15.5 g 30
65 a1
o
& h © @ ©
<+| o o PNZSY N7\ A
o § hd Y\ RN 2 N7
©) & & &
NN
L —
# Other dimensions are the same as basic style.
With end lock (216): MXQ16L-C0CIR
| J
% % & o
S0 ENIVZNY &) 9
Y\ ~ Y/ A\
< @ ©
— =
25
[©-@] | j
5 B
sl ¢ ¢ | B\¥
6
# Other dimensions are the same as basic style.
Axial piping type (916): MXQ16L-CICIP
@ @
D) 7\ 7Y
N N N &
< ©
—= =
‘ )
1 ©
[©-9] |
5 }
s & & =

# Other dimensions are the same as basic style.

O

14

113




Series MXQ

Dimensions: MXQ20

+ For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)

Basic style Metal stopper (Refer to page 125.)

2 x M6 x 1 thread depth 7 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)

25 13
0 6.5 J | 13 Max.14 (Retraction end adjuster)
©
iy B < Note 1) If long bolts are used, they can touch the
] 3 - '-i guide block and cause malfunction, etc.
) W i Refer to the Specific Product Precautions.
= Note 2) Since the table is made of a magnetic
I o substance, it could become magnetized if
8 {3 G} j--i touched by a magnet, etc. This could cause
) - N auto switch malfunction.
Adjuster at extension end
45.5 (Adjuster at extension end) N x M5 x 0.8 thread depth 8 Note 1) Note 2) 15 6
6 Retraction end adjuster
i ™ i
it T
E ) .
E ¢ @ s 5
(2]
< &5-0) [NEEN L ) olg| R
3 m_I g A ~ S == R
": g 8 D ® ® A 8
2 ) )
2 ' '
= F N E i)
< oy - 4 x M5 x 0.8 thread depth 8
18 - N \xF g
27 2 =
3 x M6 x 1 thread depth 13 2
[*s)
13
@5H9 0% depth 5 M
KA 25 B .
1 ottom view of MXQ20-50
6.5 - NA X M6 x 1 thread depth 6
K 25 - 48 36 12
0 6.5 12
o ﬁ:
A [
< . 3 e 1o o
e ] ¢ A A
Z —4 &
Y44 N
(NN-1) xH G_
FA H B 26 10.5 . 26 10.5
' v{IlVa - e ARFE
-1 el o — 0 |~
I ol I SN SR
R S R — SE= =
- 2 /a P
n
0 : N N>
4 ™~
A 6 B
S NN x M6 x 1 thread depth 12
#5H9 *3%% depth 5 ‘ HA > GA ¢
0 2 Section AA Section BB
%
&
(mm)
Model F N G H | NN | GA | HA | J K | KA[NA | M 4 Y74
MXQ20- 10 45 4 22 46 2 18 50 16 46 31 — 4 94 | 92.5| 108
MXQ20- 20 40 4 22 46 2 18 50 16 46 41 — 4 94 | 92.5| 108
MXQ20- 30 48 4 22 46 2 18 50 16 46 51 — 4 94 92.5| 108
MXQ20- 40 58 4 22 56 2 22 56 16 56 61 — 4 104 [102.5| 118
MXQ20- 50 | 42 | 6 | 9 e} 3 48 | 48 | 18 72| 71| — | 4 | 122 |120.5| 136
MXQ20- 75 55 6 17 56 3 73 56 23 100 96 | 126 8 155 |153.5| 169
MXQ20-100 50 8 18 56 4 74 | 112 25 155 | 121 183 8 212 [210.5| 226
MXQ20-125 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 |238.5| 254
MXQ20-150 62 8 56 62 4 118 | 124 21 215 | 171 | 239 8 268 |266.5| 282

Note) Refer to the bottom view of MXQ20-50.

114

O
:



Air stide Table Series MX Q

With shock absorber (20): MXQ20-1C1BS/BT/B

Stroke Adjustable Range

(mm)

Extension end

Retraction end

35

35

46.5

* Other dimensions are the same as basic style.

With buffer (¢20): MXQ20-0CF

60
35
17.5
(|

3 x M6 x 1 thread depth 13 18

* Other dimensions are the same as basic style.

With end lock (920): MXQ20-00C0R

* Other dimensions are the same as basic style.

Not
08N

Shock absorber at retraction end

0.5

Shock absorber at extension end 46.5
0‘5Note)
13 /Max. 54 I
i Ry ]
— | | A
1 hi —}
© @ © —_)' ; NS
S —c e
% < %
A~

Note) Note that the top of the shock absorber unit will be higher than that of the table.

42.5

Axial piping type (220): MXQ20-JCJP

* Other dimensions are the same as basic style.

Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)

4 4 &
OO
© & RS
445
305
[® o] |
8
& E
’iﬂi © @ J_q. )
, lo o
33
RS @ ©
o)
Q—©—© ®
@ & RS
. ==
| ™
20,
|
e
ipsiEess 8
loof |

Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)

115

MXH
MXU
MXS

e
B
"
e
o
s

D-O
-XO

Individual
-XO




Series MIXQ

Dimensions: MXQ20L/Symmetric Type

Basic style

3 x M6 x 1 thread depth 13

18
|
7

F“\,@z

Uy AV
| =
RPN

(ONS

=2

* For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.

%]

‘]: W
5H9+8‘°3° d BAdjuster at extension end

ep

45.5 (Adjuster at extension end)

N X M5 x 0.8 thread depth 8 Note 1) Note 2)

2z Rubber stopper (Refer to page 122.)
z Metal stopper (Refer to page 125.)
= ol €
< — ©
OB CANECIRC
0 6.5 | [12
o
K 25
NA X M6 x 1 thread depth 6
6.5 | 12
o5 Note 1) If long bolts are used, they can touch the guide
KA block and cause malfunction, etc.
13 M Refer to the Specific Product Precautions.
Note 2) Since the table is made of a magnetic substance,
_Lf:’ it could become magnetized if touched by a
. N 3 magnet, etc. This could cause auto switch
° = _ ° malfunction.
5 27 (3-)xF g el
s F 22 o 4 x M5 x 0.8 thread depth 8
2 > T — @
& 0 h,
< +
[
KK © © ©
2 o) 5y 2 gl 8l o
2 A N N R
< © @ } =
[{o] it A
s i A,
- A== T
i T =X
i 6 [—
Retraction end adjuster

Bottom view of MXQ20L-50

—r

NOZANC G} G} - rj‘“‘: E: @ o}
0 s NEa H
@ LN God O é
6.5 -1
P J 1,13 E
2 x M6 x 1 thread depth 7 /2.5 || 13 0 \
= . .
Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8) § Max. 14 (Retraction end adjuster) 48 | 36 12
25H9*3%%° depth 5 HA GA
A 6 |<§ NN X M6 x 1 thread depth 12
7% - ﬁ
1B ] &
1 @ B
- 1N e | =] WP o] =
_ 8| S ) 25l [ 3|
: LN LN
A B
A H N 26 | | 105 26 | | 105
(NN-1)xH G Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M 4 2z
MXQ20L- 10| 45 4 22 | 46 2 18 | 50 | 16 46| 31| — | 4 94 | 92.5| 108
MXQ20L- 20 | 40 4 22 | 46 2 18 | 50 | 16 46| 41| — | 4 94 | 92.5| 108
MXQ20L- 30 | 48 4 22 | 46 2 18 | 50 | 16 46| 51| — | 4 94 | 92.5| 108
MXQ20L- 40 | 58 4 22 | 56 2 22 | 56 | 16 56| 61| — | 4 | 104 [1025| 118
MXQ20L- 50 | 42 6 Note)) - _Note) 3 48 | 48 | 18 72| 71| — 4 122 [120.5| 136
MXQ20L- 75 | 55 6 17 | 56 3 73 | 56 | 23 | 100| 96 | 126 | 8 | 155 |153.5| 169
MXQ20L-100 | 50 8 18 | 56 4 74 | 112 | 25 | 155 | 121 | 183 | 8 | 212 |210.5| 226
MXQ20L-125 | 55 8 37 | 59 4 96 | 118 | 18 | 190 | 146 | 211 | 8 | 240 |238.5| 254
MXQ20L-150 | 62 8 56 | 62 4 | 118 [ 124 | 21 | 215|171 | 239 | 8 | 268 |266.5| 282

Note) Refer to the bottom view of MXQ20L-50.

116



air slide Table Series MXQ

With shock absorber (020): MXQ20L-OICJBS/BT/B

1)
{ 1l
Stroke Adjustable Range == ! ! o MXH
(mm) —H 13| Max.54 ke
Extension end|Retraction end 05N | Max. 35 0.5 Note) —
35 35 46.5 Shock absorber at retraction end MXU
Shock absorber at extension end st
# Other dimensions are the same as basic style. Note) Note that the top of the shock absorber unit will be higher than that of the table. [~
With buffer (920): MXQ20L-CICOF MXE
o : MXW
g I
ool | MXJ
0 30.5 —
3 x M6 x 1 thread depth 13 18 S}
7 445 MXP
\ : MXY
o i - & @
o p| N A N7\ |
88 Q0@ MTS
® @ 4 a L
+ Other dimensions are the same as basic style.
With end lock (920): MXQ20L-C1C0R
| —
=
B @ B o
——o0——O g
.@. & .@.
= A,
33
[© 9]
H$ 6} © N«
I (%]
L o -
8 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)
# Other dimensions are the same as basic style.
Axial piping type (220): MXQ20L-C1CJP 14
.@. o .@.
Q@ 3
.@. @ .@.
L : D-O0
0
— ) | b Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8) -XO
5 Individual
B Q) « EE

# Other dimensions are the same as basic style.

%SMC 117



Series MIXQ

Dimensions: MXQ25

Basic style

2 x M8 x 1.25 thread depth 9

* For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.

Rubber stopper (Refer to page 122.)

Metal stopper (Refer to page 125.)

Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)

Adjuster at extension end

N X M6 x 1 thread depth 11 Note 1) Note 2)

Note 1) If long bolts are used, they can touch the
guide block and cause malfunction, etc.

Note 2) Since the table is made of a magnetic
substance, it could become magnetized if
touched by a magnet, etc. This could
cause auto switch malfunction.

4 16
8 J | 15 Max.17 (Retraction end adjuster)
|
i | v
Refer to the Specific Product
3 o H Precautions.

. 1
- - i

26H9*3%%° depth 6 20 65
\ 7 Retraction end adjuster )
A [
= : —=H 9
& . ;
s B o é o = S 3
R ! &
< 2 27~ N - R 7 iy 3 & ST
NN £ Y T N% SE 8N DL
[aV) ‘a :':) () o @ o A, g
: S
k7 A Y
2 L -
65 2 0
< F £ = 4x M6 x 1 thread depth 10
215 0 N _N g g
© 30 _ 2 ~ X . 8
3 x M8 x 1.25 thread depth 15 So
D
15 M 5 NA x M8 x 1.25 thread depth 8
KA 31
8 15 Bottom view of MXQ25-75
K £l 65 50 22
[Te} 8 15 -
o
[ Si= T M
0 4
) © |
2 o A o A A A o
—{= \\V AV W W I N
z . [H]
zz @ @
(NN-1)xH G
H 32 11.5 32 11.5
A B ‘ ‘
= 2O o S
H] o | e %% SEENE
o ol o o - — ;
H X
lim (IS4
o :
- k: 4 B
Pi N L
A 7 el NN x M8 x 1.25 thread de
© . pth 16
HA GA £
0.030 . .
06H9"0™ depth 6 5 Section AA Section BB
N
T
© (mm)
Model F N G H NN | GA | HA | J K KA | NA M Z Y74
MXQ25- 10 | 55 | 4 | 23 | 55 | 2 23 | 55 | 16 56| 35| — | 4 | 107 |1055] 123
MXQ25- 20 | 46 | 4 | 23 | 55 | 2 23 | 55 | 16 56| 45 | — | 4 | 107 |1055] 123
MXQ25- 30 | 55 | 4 | 23 [ 55 | 2 23| 55| 16 56| 55 | — | 4 | 107 |1055] 123
MXQ25- 40 | 65 | 4 | 23 | 65 | 2 23| 65 | 16 66| 65 | — | 4 | 117 |1155] 133
MXQ25- 50 | 75 | 4 | 32 [ 80 | 2 32| 80 | 16 90| 75| — | 4 [ 141 [1395] 157
MXQ25- 75 | 60 6 LB IR g 72| 65| 31 | 100|100 | — | 4 | 166 |164.5| 182
MXQ25-100 | 48 | 8 | 44 | 44 | 4 88 | 88 | 20 | 150 | 125 | 170 | 8 | 205 |203.5| 221
MXQ25-125 | 60 | 8 [ 31 [ 66 | 4 97 [ 132 | 18 | 205 | 150 [ 223 | 8 | 258 |256.5] 274
MXQ25-150 | 65 | 8 | 56 | 66 | 4 | 122 | 132 | 18 | 230 | 175 | 248 | 8 | 283 |281.5| 299

Note) Refer to the bottom view of MXQ25-75.

118

O
:



air stide Table Series MX Q

With shock absorber (925): MXQ25-1C1BS/BT/B

Shock absorber at retraction end

54.5 Max. 29 Shock absorber at extension end 54.5
15 /Max. 52
P =
,‘Et [ ] |
@ 1 o
Stroke Adjustable Range &(DO @’ © © @ — MXH
™ 5o o—6—0|= :
Extension end|Retraction end 7\
35 35 éyo @ @ ® H MXU

* Other dimensions are the same as basic style. st

With buffer (625): MXQ25-00F

. MXF
: @ ® @ MXW
E < PN P A .
NE - = MXJ
¢ : ° ® ® oY
3 x M8 x 1.25 thread depth 15 21.5 g 35
‘ MXY
2 Sk MTS
%2 e —
* Other dimensions are the same as basic style.
With end lock (225): MXQ25-00C0R 8. Operating port 2 x R 1/8 (NPT 1/8, G 1/8)
- _4» ° A .
lo-o
37
@ © ©
%@} PNZN @ <
¥ N =
@ © ©
7
| N I
= Other dimensions are the same as basic style.
Axial piping type (925): MXQ25-C1C]P 20
@
Biage E
= 1 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)
ool | o
@ @ © -XOI
& V7 7N @ 2
¥ Rl 4 ¥ Individual
@ © ) -XO
# Other dimensions are the same as basic style.
% SMC 119



Series MIXQ

Dimensions: MXQ25L/Symmetric Type

44

+ For detailed dimensions about the stroke adjuster,
refer to the option for the stroke adjuster.
Rubber stopper (Refer to page 122.)
Metal stopper (Refer to page 125.)

Note 1) If long bolts are used, they can touch the guide
block and cause malfunction, etc.
Refer to the Specific Product Precautions.
Note 2) Since the table is made of a magnetic substance,
it could become magnetized if touched by a
magnet, etc. This could cause auto switch

4 x M6 x 1 thread depth 10

. zz
Basic style 7 "
=
0 1 8
[=2) [
<
0-0| ool
0 8 15
© K 31 NA x M8 x 1.25 thread depth 8
8 15
KA 31
15 M
©
3 x M8 x 1.25 thread depth 15 N £
30 <? - 'D xF 3 malfunction.
21.5 g_
6.5 F % 0| o
— © - A
[v) g A== =
(ﬁ?\“}’:@ é N A
o &y @@ g & (o} @ 1] ©
Dl | N7 ) A 17 T gl ¥l 3
N & M4 P N4 N i~ @ ©
% | 5 Al
4 < I Y ‘
T 1 7 Lo
@6H9*3%% depth 6 Retraction end adjuster

Adjuster at extension end

54.5 (Adjuster at extension end)

N X M6 x 1 thread depth 11 Note 1) Note 2)

20

6.5

Bottom view of MXQ25L-75

B ool I
L- —
1 =2 &
Vs - H
= N 1 |4 4
® 4 S o —-0 o
J E i YY\Y ¥
2 x M8 x 1.25 thread depth 9 4 |16 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8) M—-
Max. 17 (Retraction end adjuster,
( ! ) 65 50 22
26H9"0 % depth 6 HA GA
NN x M8 x 1.25 thread depth 16
A mle? B
! - - I
= -
0
g el ol
- ®
H X
m o m o) m o0 T 1T T I —
O O™ © 1 —— 3
1 © 9| |o | of _|a
i I BEEEN Y SBEEE
H (0]
L0 O'C
<A H B 3 32 11.5 32 11.5
go
(NN-1)xH G z Section AA Section BB
(mm)
Model F N G H | NN | GA | HA | J K |KA|NA | M Y4 Y74
MXQ25L- 10 | 55 4 23 55 2 23 55 16 56 35 — 4 107 |105.5| 123
MXQ25L- 20 | 46 4 23 55 2 23 55 16 56 45 — 4 107 [105.5]| 123
MXQ25L- 30 | 55 4 23 55 2 23 55 16 56 55 — 4 107 | 105.5| 123
MXQ25L- 40 | 65 4 23 65 2 23 65 16 66 65 — 4 117 [115.5] 133
MXQ25L- 50 | 75 4 32 80 2 32 80 16 90 75 — 4 141 |1839.5| 157
MXQ25L- 75 | 60 6 L) ) g 72| 65 | 31 | 100|100 | — | 4 | 166 |164.5| 182
MXQ25L-100 48 8 44 44 4 88 88 20 150 | 125 170 8 205 | 203.5| 221
MXQ25L-125 | 60 8 31 66 4 97 | 132 18 205 | 150 | 223 8 258 [256.5| 274
MXQ25L-150 | 65 8 56 66 4 122 | 132 18 230 | 175 | 248 8 283 [281.5| 299

Note) Refer to the bottom view of MXQ25L-75.

120

O
:




Air stide Table Series MX Q

With shock absorber (925): MXQ25L-11BS/BT/B

NS

) © © i

©
» 6 -5 o ta
© —

7N

A\
@o@\ ° °
Stroke Adjustable Range ) ; 1T T —
L e o ——== e MXH
Extension end|Retractionend = Max. 52 —

35 35 545 Max. 29 Shock absorber at retraction end 545 MXU
XS

Shock absorber at extension end

+ Other dimensions are the same as basic style.

With buffer (925): MXQ25L-C0CIF

MXF
s MXw
o0 MXJ
3 x M8 x 1.25 thread depth 15 21.5 3 %5
.65 50 MXP
X MXY
&I © © © I —
% 3 5 oO—o6——0 MTS
e ?‘ @ @ ©
* Other dimensions are the same as basic style.
With end lock (225): MXQ25L-C0C0R 1
[ e =
== T
& & ©
%@ PRZN 7 b3
4 ¥
© @ ©
37
|©-©] e
e e | [\¢
e
8 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)
* Other dimensions are the same as basic style.
Axial piping type (225): MXQ25L-CJCP 17
® ® ®
& D o) 7
N4 Y ¥ ¥ o
© & ©
i ; D-O
‘ m-r
5O | - Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8) 'XI:I
] Individual
it o |2 AR X0
L HH-D L —
+ Other dimensions are the same as basic style. 20

%SNC 121



Series MIXQ

External Dimensions of Adjuster

Rubber Stopper (AS/AT)

Extension End

B°dy mounting section Aoolcable s Model " ISUOkte Body mounting section Table mounting section
D A P pplicable size oae a]us?:ﬂer:)range A B C D E F G M P ) H J K Q )
M - MXQ-AS 6 (L) 5 165
M MXQ 6 (L) WOAS ST 5 6 |19 | 8|7 2651 7|25 |M5x08 | M25x6 (125 | 6 | 8.3 | M25x8
L @ @ MXQ-AS 8 (L) 5 195 |
(N o i MXQ 8 (L) | MXQ-AS 8(L)-X11 15 |7 |22 | 9| 75|295| 8|3 | Mex1| M3x8 (146 |7 |98 | M3x10
£/ M MXQ-AS B(X12 | 25 395
G E MXQ-AS12 (L) 5 | 235 |
c MXQ12 (L) | MXQ-AS12 (L)-X11 15 |95 (29 | 14|11 |335| 12 |4 | M8x1 | M4x12 185 [10.5 [127 | M4x 12
DA MXQ-AS12 (L)-X12 25 435
. . MXQ-AS16 (L) 5 245
Table mounting section MXQ16 (L) [MQASt6x11 | 15 |11 |36 | 17 [135(345| 14 |5 |M1ox1| Msx16 21 |13 [15 | M5x16
Q MXQ-AS16 (L)-X12 25 445
— MXQ-AS20 (L) 5 | 275 |
”I aj MXQ20 (L) | MXQ-AS20 (L)-X11 15 |13 |45 | 20|16 [375| 17 |6 [Mi2x125| M6Xx16 [25 |16 [18 | M6x 16
H K MXQ-AS20 (L)-X12 25 475
MXQ-AS25 (L) 5 | 825 |
MXQ25 (L) | MXQ-AS25 (L)-X11 15 |16 |54 | 2218 |425| 19 |6 |Mt4x15| M8x18 (31 [17 |20 | M8x18
MXQ-AS25 (L)-X12 25 525
#1) Size of hexagon socket head cap screw
x2) It is also available in the symmetric type.
For “How to Order”, refer to page 94.
Dimensions are the same as standard type.
Retraction End
Stroke
Applicable size Model adjustm) ange| A B (o] D E F G H J K-
MXQ 6 (L) MHQAT 6 (L) 5 175 | 19 10.5 g 183 6 7 | 25 | M5x0.8 | M25x6
MXQ-AT 6 (L)-X11 15 26.5
MXQ-AT 8 (L) 5 19.5
D E MXQ 8 (L)| MXQ-AT 8 (L)-Xi1 15 |21 22 12.5 10 | 29.5 8 8 |3 M6x1 | M3x8
H F. MXQ-AT 8 (L)-X12 25 39.5
— MXQ-AT12 (L) 5 23.5
/i o T:CM MXQ12 (L)| MXQ-AT12 (L)-X11 15 28 29 16 16 | 335 10 12 | 4 M8x1 | M4x10
o - A \‘gj b - MXQ-AT12 (L)-X12 25 43.5
o X - 4 - | MXQ-ATI6 (L) 5 245
L™ MXQ16 (L)| MxQ-AT16 (L-X11 15 [335 | 355 |20 17 | 345 | 12 | 14 |5 M10x1 | M5 x 12
J A MXQ-AT16 (L)-X12 25 44,5
K MXQ-AT20 (L) 5 27.5
MXQ20 (L)| MXQ-AT20 (L)-X11 15 |41 445 |25 23 | 375 13 17 | 6 M12x1.25| M5 x 14
MXQ-AT20 (L)-X12 25 47.5
MXQ-AT25 (L) 5 325
MXQ25 (L) | MXQ-AT25 (L)-X11 15 49 535 |31 28 | 425 15 19 | 6 M14x15 | M6 x 18
MXQ-AT25 (L)-X12 25 52.5

«1) Size of hexagon socket head cap screw

x2) It is also available in the symmetric type.
For “How to Order”, refer to page 94.
Dimensions are the same as standard type.

122

O
:



Dimensions of Adjusting Bolt/Rubber Stopper

Air Slide Table Series MXQ

Stroke

Applicable Model adusmentrangel A | B | C | D M
size (mm)
MXQ 6 (L) MXQ-A627 S 1681,51 7 | a |[msx0s
A MXQ-A627-X11 15 26.5
MXQ-A827 5 19.5
MXQ 8 (L)| MXQ-A827-X11 15 295| 3 | 8 [3.5| M6x1
MXQ-A827-X12 25 39.5 MXH
MXQ-A1227 5 23.5 [
{: ] MXQ12 (L)| MXQ-A1227-X11 15 335| 4 (12 | 4 | M8x1 MXU
MXQ-A1227-X12 25 435 [
‘ ‘ MXQ-A1627 5 245 st
‘ ‘ MXQ16 (L)| MXQ-A1627-X11 15 345| 5 |14 | 4 [ M10x1
LEJ M D c MXQ-A1627-X12 25 445
‘ ‘ MXQ-A2027 5 275 [
MXQ20 (L) MXQ-A2027-X11 15 375| 6 |17 | 5 | M2x1%5 MXF
MXQ-A2027-X12 25 475
MXQ-A2527 5 325 MXW
MXQ25 (L)| MXQ-A2527-X11 15 425 6 |19 | 6 [Ml4x15 [
MXQ-A2527-X12 25 52.5 MXJ
MXP
How to Order Adjusting Bolt/Rubber Stopper NXY
MXQ— A (12|27 —| X11 MTS
. lAdiustment range
Applicable bore size Nil 5 mm
6 26 -X11 | 15 mm
8 28 -X12 | 25 mm
2 212 x -X12 (adjusting range: 25 mm) is not available in Series MXQ6.
16 216 = For dimensions, refer to the figure above.
20 220 * Symmetric type is also the same.
25 025
D-O
-XO
vt
-XO
123

O



Series MIXQ

External Dimensions of Adjuster

With Shock Absorber (BS/BT)

Extension End

Body mounting section Table mounting section
p Q
D LW
W o B [
S H K
1= )
i M=
'8 I —
A\ I}
¢ |_e E E1 e
L
Cc
MXQ-BS20 (L) MXQ-BS 8 (L)
MXQ-BS25 (L) MXQ-BS12 (L)
MXQ-BS16 (L)
: o - - - -
Applicable Model adjustmz)merange Body mounting section Table mounting section
S (mm) A B | C D | E |E1]|F G M P" | H J K L Q-

MXQ 8 (L)| MXQ-BS 8 (L) 20 7 245 | 14 |125 [40.8 5 12 | 14 M8 x 1 M3x12 |16.6 | 8 12 |14.6 M3 x 12
MXQ12 (L) | MXQ-BS12 (L) 18 9.5 |29 14 |11 40.8 6 12 | 14 M8 x 1 M4 x12 205 |11 13 |18.5 M4 x 12
MXQ16 (L) | MXQ-BS16 (L) 22 11 36 17 |13.5 |46.7 7 14 | 1.4 | M10x1 M5x16 |23 135 | 16 |21 M5 x 16
(L)
G

MXQ20 (L) | MXQ-BS20 (L, 35 13 46 22 |175 |67.3 | 11 19 (12 M14x15 | M6x18 |27 17 22 |25 M6 x 20
MXQ25 (L) | MXQ-BS25 (L, 35 16 54 22 |18 67.3 | 12 19 |12 M14x15 | M8x18 |33 19 22 |31 M8 x 20

1) Size of hexagon socket head cap screw

x2) It is also available in the symmetric type.
For “How to Order”, refer to page 94.
Dimensions are the same as standard type.

Retraction End

D E E1
H H F
is\ o il —
N\ /( —
m o __3
X B
K/ A
MXQ-BT20 (L) MXQ-BT 8 (L)
MXQ-BT25 (L) MXQ-BT12 (L)
MXQ-BT16 (L)
. Stroke
Applicable Model |awsmeienel A | B | ¢ | D | E |E1| F | ¢ | H J K )
size (mm)
MXQ 8 (L)| MXQ-BT 8 (L) 20 (23 |245 (125 |14 (408 | 5 | 8 | 12 | 1.4 | M8x1 | M3x8
MXQ12 (L)| MXQ-BT12 (L) 18 |28 |29 [16 |16 [408 | 6 | 10 | 12 | 1.4 | M8x1 | M4x10

(

(
MXQ16 (L)| MXQ-BT16 (L) 22 (335 355 (20 |17 |467 | 7 | 12 | 14 | 1.4 | M10x1 | M5x12
MXQ20 (L)| MXQ-BT20 (L) 35 (43 |46 |26 | 25 |67.3 | 11 | 13 | 19 |12 | Mi4x15 | M5x14
MXQ25 (L)| MXQ-BT25 (L) 35 |49 |535 |31 28 (673 | 12 | 15 | 19 |12 | Mi4x15 | M6x18

x1) Size of hexagon socket head cap screw

x2) It is also available in the symmetric type.
For “How to Order”, refer to page 94.
Dimensions are the same as standard type.

124

O
:



External Dimensions of Adjuster

air slide Table Series MXQ

Metal Stopper (CS/CT)

Extension End

Body mounting section Applicable . ; %'Onkte Body mounting section Table mounting section
A P size e ™ AIB[c[D[E|[F[G]| ™ Po|H]J][K]L] a@v
F—> M @F MXQ 6 (L) migg: 2“') 5 6 (19| 8|7 195 | 7 (2.5 |M5x0.8| M25x6 (145 |7 | 83 125 [M2.5x8 MXH
-CS 6 (L)-X11 15 255
gﬁ :\ @ o MXQ-CS 8 (L) 5 118 | MXU
w 0 MXQ 8 (L)|MXQ-CS 8 (L)-X11 15 |7 |22 | 9[75[28 | 8(3 |M6x1| M3x8 1668 |9.8 146 |M3x10
\# il MXQ-CS 8(UX12 | 25 38 —
G E MXQ-CS12 (L) 5 122 | MXS
c MXQ12 (L) |MxQ-CS12 (L)-X11 15 |95 |29 | 1411 |32 | 12|4 | M8x1|M4x12[205 11 (18 [18.5 | M4x 12
R MXQ-CS12(X12 | 25 42
Table mounting section ALEEHI 5 28|
Q MXQ16 (L) |MXQ-CS16 (L)-X11 15 |11 |36 | 17 [185(33 | 14 [5 |M10x1|M5x16[23 (185 (16 [21 |M5x16 MXF
MXQ-CS16 (L)-X12 25 43 ——
@@ ﬂl 5 MXQ-CS20 (L) 5 27| MXW
MXQ20 (L) |MXQ-CS20 (L)-X11 15 |13 |45 | 20|16 (37 | 17 |6 |[Mi2x125|M6x16[27 17 |22 [25 |[M6x20 [
H K MXQCS20 (UX12 | 25 47 | MXJ
MXQ-CS25 (L) 5 30 7
MXQ25 (L) |MXQ-CS25 (L)-X11 15 [16 |54 | 22|18 E 196 |M14x15/M8x18(33 [19 [22 (31 [M8x20 MXP
Uw WXOCS25 (LX12 | 25 50 —
L «1) Size of hexagon socket head cap screw MXY
%2) It is also available in the symmetric type. e
For “How to Order”, refer to page 94. MTS
Dimensions are the same as standard type.
Retraction End
Applicable Model adjusmnkterange A B C D E F G H J K )
size (mm)
MXQ 6 (L) MYQCT 61 5 175 |19 10.5 g 25 6 7 | 25 |M5x0.8|M25x6
MXQ-CT 6 (L)-X11 15 25.5
MXQ-CT 8 (L) 5 18
D E MXQ 8 (L) [MXQ-CT 8 (L)-X11 15 21 22 12.5 10 |28 8 8 3 Méx1 | M3x8
H F MXQ-CT 8 (L)-X12 25 38
) ; MXQ-CT12 (1) 5 22
s o MXQ12 (L) [MxQ-CT12 (L)-X11 15 |28 29 16 16 | 32 10 12 | 4 M8x1 | M4x10
m g 7R - MXQ-CT12 (L)-X12 25 42
o 3 3 4 il :: MXQ-CT46 (L) 5 23
= MXQ16 (L) [MXQ-CT16 (L)-X11 15 [335 | 355 |20 17 |33 12 14 | 5 M10x 1 | M5x 12
£/ A MXQ-CTI6 (JX12 | 25 43
MXQ-CT20 (L) 5 27
MXQ20 (L) [MXQ-CT20 (L)-X11 15 |41 445 |25 23 |37 13 17 | 6 Mi2x1.25 | M5 x 14
MXQ-CT20 (L)-X12 25 47
MXQ-CT25 (L) 5 30
MXQ25 (L) |MXQ-CT25 (L)-X11 15 49 535 |31 28 |40 15 19 | 6 M14x1.5 | M6 x 18
MXQ-CT25 (L)-X12 25 50

x1) Size of hexagon socket head cap screw

x2) It is also available in the symmetric type.
For “How to Order”, refer to page 94.
Dimensions are the same as standard type.

D-O
-XO

Individual
-XO

125

O
:



Series MXQ

Dimensions of Adjusting Bolt/Metal Stopper

Applicable

Stroke

) Model adusmentrangel A | B | C | D M
size (mm)
MXQ 6 (L) MXQ-A638 S 181551 7 | 3 |[msxos
A MXQ-AB38-X11 15 |255
MXQ-A838 5 |18
MXQ 8 (L)|MXQ-A838-X11 15 |28 | 3 | 8 [35| Mexi
MXQ-AB38-X12 25 | 38
MXQ-A1238 5 |22
_ MXQ12 (L) MXQ-A1238-X11 15 32| 4 (12| 4 | M8x1
MXQ-A1238-X12 25 | 42
|| i i MXQ-A1638 5 |23
L i i MXQ16 (L)[MXQ-A1638-X11 | 15 |33 | 5 |14 | 4 |Mi0x1
iBi w D i c i MXQ-AI638-X12 | 25 | 43
— e | MXQ-A2038 5 |27
MXQ20 (L)|MXQ-A2038-X11 15 |37 | 6 [17 | 5 |M2xi%
MXQ-A2038-X12 25 | 47
MXQ-A2538 5 |30
MXQ25 (L)|MXQ-A2538-X11 15 | 40| 6 [19 | 6 |Mi4x1s5
MXQ-A2538-X12 25 | 50
How to Order Adjusting Bolt/Metal Stopper
MXQ—A (12|38 —| X11
l Adjustment range
Applicable bore size Nil 5 mm
MXQ 6 26 X11| 15mm
MXQ 8 08 -X12| 25mm

MXQ12 212
MXQ16 216
MXQ20 220
MXQ25 025

126

# -X12 (adjusting range: 25 mm) is not available in Series MXQ6.
= For dimensions, refer to the figure above.
* Symmetric type is also the same.

O



Air Stide Table Series MX Q

Construction

 rensssensenss MXH
@/ / MXU
0§ B L

@ 30 3 35 26 40 @3 @
| S
‘{ \ | 2 —_— MXF
+ I ] )} /] = | ) ! ——
1 [ Les) 7 [w
= v = I g |
| - - @ i sz
; R e— ! T ] a1 e —
i il : - LAy 1] o Py
B @—‘;@— S— i & — MXJ
@ = 5 © S S=E T
=1 ‘ . —39 MXP
i [ 1! —
V \Y V L
With buffer With end lock Axial piping type MTS
Component Parts Component Parts: With End Lock e
No. Description Material Note No. Description Material Note
1 Body Aluminum alloy Hard anodized 26 Locking body Aluminum alloy Hard anodized
2 Table Stainless steel Heat treated, Electroless nickel plated 27 Table support Carbon steel Anti-corrosive treated
3 End plate Aluminum alloy Hard anodized 28 Rod cover Aluminum alloy
4 Guide block Stainless steel Heat treated 29 Piston rod Stainless steel
5 Cover Synthetic resin 30 Bushing Aluminum alloy Chromated
6 Return guide Synthetic resin 31 Blanking plug Brass Electroless nickel plated
7 Scraper Stainless steel, NBR 32 Return spring Stainless steel
8 Rod Stainless steel 33 Piston seal NBR
9 Piston assembly — With magnet on one side 34 Rod seal NBR
10 | Rod cover Aluminum alloy Anodized 35 O-ring NBR
11 | Seal support Brass Electroless nickel plated 36 O-ring NBR
12 | Head cap Synthetic resin . . -
13 | Floating bushing Stainless steel component Parts: Axial Plpmg Type
14 Rod bumper Polyurethane No. Description Material Note
15 | End bumper Polyurethane 37 Axial piping plate Aluminum alloy Hard anodized
16 | Steel balls High carbon chrome bearing steel 38 | Pipe Aluminum alloy Hard anodized
17 | Parallel pin Stainless steel 39 Bushing Aluminum alloy Chromated
18 | Piston seal NBR 40 Stud Brass Electroless nickel plated
19 | Rod seal NBR 41 | O-ring NBR
20 | O-ring NBR 42 O-ring NBR
R = 43 Gasket NBR, Stainless steel
Component Parts: With Buffer 24 | Oring BR
No. Description Material Note . -
21 End plate Aluminum alloy Hard anodized ® S_eal kit includes these sgals to provide as a set. Order the seal
" - kit, based on each bore size.
22 Spring collar Stainless steel
23 Head cap Stainless steel
24 Spring Stainless steel
25 Magnet —
Replacement Parts: Seal Kit Replacement Parts: Replacement Parts: Replacement Parts:
_— Seal Kit for with End Lock  Seal Kit for Axial Piping Type = Grease Pack
(mm) Kit no. Contents
Bore size . Bore size . Applied Grease pack
6 MXQ 6-PS (mm) Kit no. Contents (mm) Kit no. Contents s part no. D_D
8 | MxQ 8-Ps | Setofnos. 8 |MXQ 8R-PS | Set of nos. 6 | MXQ 6P-PS [Setofnos. above GR-S-005 (5g) (y—
12 | MXQ12-PS | above 12 [MXQI2RPS | . 8 |MxQ 8P-PS | (10®, Guide SRS ggg; -XOI
16 | MXQ16-PS | G@to @ 16 [MXQT6RPS | " " 12 [MxQ12pP-Ps | @to GR-S-050 (sog) ndividual
20 | MXQ20-PS | (4 ge) 20 [MXQ0R-PS |  °° 16 |MXQ16P-PS |[Setof nos. above GR-L-005 (5g) X0
25 | MXQ25-PS 25 |MXQ25R-PS | Sto@® 20 |[MXQ20P-PS | @to®, Cylinder gR-L-mO 5109; —
¥ @) t @ R-L-020 209
25 |MxQ2sP-Ps | @to GR-L-050 (500)

127

O

SVC



Series MIXQ

Auto Switch Proper Mounting Position (Detection at Stroke End)

Reed Auto Switch: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V

B E
] Model A Stroke Stroke
10 |20 |30 | 40 | 50 | 75 |100|125|150 |10 | 20 | 30 | 40 | 50 | 75 [100 [125 [150
|_[E MXQ6 | 6 | 55| 55| 55135135 — | — | — | — | W | B | B W&l —1—1—|—
- —_—— MxQ8 | 75] 8 |8 [12 [16 a1t [s2 [ = [ = [ = [ | &l ool — [ = | =
A | E | MXQ12 |11.5|245|145[145(215/215(405(405| — | — | B | & | & | R | 31 85| &5 — | —
MXQ16 |16.5|305|20.5|205|205(265(335 515|515 — | B | 165 | (e | (05| 25 | ooy | (o | tan| —
MXQ20 |19 |435|335|23.5]335|31.5]305|715 745|775 | 5| 35| 2 | U | 20 | 5 | 5| B3| O
MXQ25 |22 | 525[425]325]325]465]46.5|60.5 885|885 f0s | 55 | 3% | o | (o | 5| s el O
# (): Denotes D-A93.
' ' Solid State Auto Switch: D-M9B, D-M9N, D-M9P, D-M9BW, D-MO9NW, D-M9PW
B E
| —————— — : S Model | A Stroke Stroke
B 10 |20 | 30 | 40 | 50 | 75 |100 125|150 | 10 | 20 | 30 | 40 | 50 | 75 [100 [125|150
-~ MXQ6 |10 95| 95| 95(175(175| — | — | — | — [-05|-05|-05| 75|75 | — | — | — | —
MXQ8 [115(12 [12 (16 |20 (35 (36 |— |—|— |2 |2 |6 [10|25 |26 | —|— | —
MXQ12 |155 |28.5|18.5(18.5|255|25.5(44.5(445| — | — |185| 85| 85 |155(155(345(345| — | —
MXQ16 |20.5 | 34.5(24.5(24.5|24.5(30.5(37.5|55.5(55.5| — |24.5(14.5|14.5(14.5|20.5|27.5(45.5|455| —
MXQ20 |23 |47.5(37.5|27.5|37.5|35.5(43.5|75.5(78.5|81.5(37.5|27.5|17.5|27.5|25.5|33.5|65.5|68.5|73.5
MXQ25 |27 |56.5(46.5|36.5(36.5(50.5(50.5|64.5(92.5|92.5(46.5|36.5|26.5|26.5|40.5|40.5|54.5|82.5|73.5
Solid State Auto Switch: D-M9BV, D-M9NV, D-M9PV, D-M9BWV, D-MONWV, D-M9PWV
B E
Model A Stroke Stroke
10 [ 20 |30 | 40 | 50 | 75 [100|125|150| 10 | 20 | 30 | 40 | 50 | 75 |100 |125 [150
MXQ6 |10 95| 95| 95[175({175| — | — | — | — | 15| 15/ 15|/ 95| 95| — | —| — | —
MXQ8 (115 |12 [12 [16 |20 |35 [36 | — | — |— | 4 |4 |8 [12 |27 |28 | — | — | —
MXQ12 155 [28.5|18.5|18.5|25.5|25.5|44.5(445| — | — |20.5/10.5(10.5|17.5]17.5/36.5|365| — | —
MXQ16 (205 |34.5|24.5(24.5|24.5|30.5|37.5|55.5 |555| — |26.5]16.5|16.5|16.5|22.5(29.5|47.5|47.5| —
MXQ20 |23 |475(37.5(27.5/37.5(35.5(43.5|75.5|78.5|81.5]39.5|29.5|19.5|29.5|27.5|35.5(67.5|70.5|755
MXQ25 [27 |56.5|46.5]36.5]36.5|50.5|50.5 |64.5 |92.5|92.5|48.5|38.528.5|28.5|42.5|42.5|56.5|84.5 | 75.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Operating Range
A Caution Auto Switch Mounting Tool )
*When tightening the auto switch mounting screw (included with Operatlng I‘ange (mm)
auto switch), L{se a watchmaker’s screwdriver with a handle about ] Applicable bore size
5 to 6 mm in diameter. Auto switch model
Tightening Torque i G U
_ _ _ D-A9, A9[ IV 45 5 6 7 8 9
Tightening Torque of Auto Switch D-Mo[ ], MoV
Mounting Screw (Nem) D-MoIw, meCIwv| 2° | 2% | 3 4 45 | 5
itolswitchiodsl Tightening torque + Since the operating range is provided as a guideline including hysteresis, it
D'AQD(V) 0.1010 0.20 cannot be gugranteed (as_suming appro>_(imately.130°/o dispersion). It may
g:mgngv) 0.0510 015 vary substantially depending on an ambient environment.

Auto switch mounting screw
~ (included with auto switch)

Watchmaker’s screwdriver

o TN EE Em mm Em Em Em Em EE EE EE EE RN MR M EE EE N EE EE EE EE EE EE M EE EE EE ME EE EE N EE EE EE EE NN EE SN RN EE BN EE Em Em S A Em

: Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted.

-
1
1
1 = Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H types) and solid state auto switch D-F8 are also available. 1
1 Refer to pages 1745 and 1746 for details. 1

- |

128 ZS\NC



Al

Series MIXQ
Specific Product Precautions 1

Be sure to read before handling. Refer to front matters 42 and 43 for Safety Instructions

and pages 3 to 11 for Actuator and Auto Switch Precautions.

|

Selection \

Mounting \

/\ Caution

1.

Operate loads within the range
of the operating limits.

Select the model considering
maximum allowable load and allowable
moment. Refer to pages 90 and 91 for
the details. When actuator is used
outside of operating limits, eccentric
loads on guide will be in excess of this
causing vibration on guide, inaccuracy,
and shortened life.

. If intermediate stops by external

stopper is done, avoid ejection.
If lurching occurs damage can result.
When making a stop with an external
stopper to be followed by continued
forward movement, first supply
pressure to momentarily reverse the
table, then retract the intermediate
stopper, and finally apply pressure to
the opposite port to operate the table
again.

. Do not use it in such a way that

excessive external force or

impact force could work on it.
This could result in damage.

|

Mounting

/\ Caution

1.

Do not scratch or dent the
mounting side of the body, table

or end plate.
This can cause loss of parallelism in
the mounting surfaces, vibration in the
guide unit and increased operating
resistance, etc.

.Do not scratch or dent on the

forward side of the rail or guide.
This could result in looseness and
increased operating resistance, etc.

.Do not apply excessive power

and load when work is mounted.
If the external force more than the
allowable moment were applied,
looseness of the guide wunit or
increased operating resistance could
take place.

.Flatness of mounting surface

should be less than 0.02 mm.
Poor parallelism of the workpiece
mounted on the body, the base, and
other parts can cause vibration in the
guide unit and increased operating
resistance, etc.

.Select the proper connection

with the load which has external
support and/or guide mechanism
on the outside, and align it

properly.

. Avoid contact with the body

during operation.

Hands, etc., may get caught in the
stroke adjuster. Install a cover as a
safety measure if there are instances to
be near the slide table during
operation.

. Keep away from objects which

are influenced by magnets.

As the body magnets are built-in, do
not allow close contact with magnetic
disks, magnetic cards or magnetic
tapes. Data may be erased.

.Do not touch a magnet to the

table section.

Since the table is made from the
magnetic substance, it could turn to be
magnetized if it stuck by a magnet, etc.
That could cause auto switches, etc. to
malfunction.

O
z

9. When mounting the body, use

screws with appropriate length
and do not exceed the maximum
tightening torque.

Tightening with a torque above the limit
could malfunction. Whereas tightening
insufficiently could result in
misalignment or come to a drop.

MXH
MXU
MXS

MXF
1. Lateral Mounting (Body tapped) —
MXW
] A
i MXJ
Maximum fightening | Maxi i MXP
laximum tightening | Maximum screw-in —
Model Bolt torque (N'm) depth (¢ mm)
MXQ 6 (L)| M4 x 0.7 2.1 8 MXY
MXQ 8 (L)| M4x0.7 2.1 8 _
MXQ12 (L)| M5 x 0.8 | 44 10 MTS
MXQ16 (L)| M6 x 1 7.4 12 —
MXQ20 (L)| M6 x 1 7.4 12
MXQ25 (L) | M8 x 1.25 18.0 16
2. Lateral Mounting (Body through-hole)
| >
.
Maximurn tightening
Model Bolt forgue () ¢mm
MXQ 6 (L)| M3x 0.5 1.2 10.5
MXQ 8 (L)| M3x0.5 1.2 12.5
MXQ12 (L)| M4 x 0.7 2.8 16
MXQ16 (L) | M5 x 0.8 5.7 21
MXQ20 (L)| M5 x 0.8 5.7 26
MXQ25 (L)| M6 x 1 10.0 32
3. Vertical Mounting (Body tapped)
2700177722,
vl
N
Maximum tightening | Maximum screw-in D - D
Model Bolt torque (N-m) depth (¢mm) —
MXQ 6 (L)| M25x0.45 0.5 4 -XO
MXQ 8 (L)| M3x0.5 0.9 4 —
MXQ12 (L)| M4 x 0.7 2.1 6 Individual
MXQ16 (L)| M5x0.8 4.4 7 -Xa
MXQ20 (L)| M5x0.8 4.4 8
MXQ25 (L)| M6 x 1 7.4 10

129



Series MXQ
Specific Product Precautions 2

Be sure to read before handling. Refer to front matters 42 and 43 for Safety Instructions
and pages 3 to 11 for Actuator and Auto Switch Precautions.

Al

’ Mounting \

/A Caution

1. Front Mounting

] Operating Environment \ ] Caution for Adjuster Option

/A Caution

Stroke Adjuster

/A Caution

1. Do not use in the environment,
where the product could be

¢ exposed to the liquid such as 1.Do not replace with the bolt
% cutting oil, etc. other than the original adjusting
Using in the environment where the bolt.
= product could be exposed to cutting oil, This could result in looseness and
%:‘E’—t:—‘ coolant or oil, etc. could result in damage due to impact forces, etc.
7 looseness, increased  operating | 5 pojlow the table for tightening
resistance, or air leakage, etc.
/\ Caution ) ) torque of lock nuts.
To prevent the workpiece holding bolts from 2.Do not use in the environment, Insufficient torque will cause a

touching the end plate, use bolts that are 0.5 mm
or more shorter than the maximum screw-in depth.

where the product could be
exposed directly to the foreign

decrease in the positioning accuracy.

If long bolts are used, they can touch the end plate Model Tightening torque (N-m)
and cause malfunction, etc. matters such as powder dust, MXQ G(L) 3.0
Maximum tightening | Maximum screw-in lown in hi r
Model Bolt el Sl blown dust, cutting chip, spatte MXQ 8 (L) 5.0
MXQ 6 (L) M3x05 09 5 etc. MXQ12 (L) 12,5
MXQ 88 M4:0'7 21 5 This could result in looseness and MXQ16 (L) 25.0
MXQ12 (L) M5 0'8 4'4 5 increased operating resistance, and air MXQ20 (L) 43.0
MXQ16£L; Msi{ 74 10 leakage, etc. MXQ25 (L) 69.0
MXQ20 (L)| M6 x 1 74 3 Plo.tesgekgoc;\s?lt W|.th SMC tregardlng use
MXQ25 (L) M8 x 1.25 | 18.0 15 In this Kind of environment. 3.When stroke adjuster is
3. Do not use in direct sunlight. adjusted, do not hit the table
2. Too Mountin 4. When there are heat sources in with the wrench.
- 1P 9 the surrounding area, block them This could result in looseness.
Guide block off.
When there are heat sources in the
cause the product’s temperature to rise
and exceed the operating temperature
range. Block off the heat with a cover,
A\ Caution ete.

To prevent the workpiece holding bolts from
touching the guide block, use bolts that are 0.5
mm or more shorter than the maximum screw-in
depth. If long bolts are used, they can touch the
guide block and cause malfunction, etc.

5.Do not subject it to excessive
vibration and/or impact.
Please consult with SMC regarding use
in this kind of environment, as this can

Model Bolt Maxtlg?:Lne t(iﬂh:HE)ning Ma);g)t:;n(‘sa:;\r)un cause damag.e and malfunction. .
MXQ 6 (L)| M3 x05 12 2 6.Use cl:autlon for. the a|:|t|-
MXQ 8 (L)| M3 x 0.5 15 48 corrosiveness of linear guide
MXQ12 (L)| M4 x 0.7 2.8 6 section.

MXQ16 (L)| M5 x 0.8 5.7 7 Martensitic stainless steel is used for
MXQ20 (L)| M5 x 0.8 5.7 9.5 the table and guide block. But, use
MXQ25 (L)| M6 x 1 10.0 11.5 caution that anti-corrosiveness is

inferior to the austenitic stainless steel.
Especially, rust may be generated in an
environment where waterdrops are
likely to adhere due to condensation,
etc.

10. The positioning hole on the
table and the positioning hole at
the bottom of the body do not
have the same center. Use these
holes during reinstallation after
the table has been removed for
the maintenance of an identical

surrounding area, radiated heat may
product. } }

130

O
z



Series MXQ
Specific Product Precautions 3

Be sure to read before handling. Refer to front matters 42 and 43 for Safety Instructions
and pages 3 to 11 for Actuator and Auto Switch Precautions.

Al

] Caution on Adjuster Option \

With Shock Absorber

] Caution on Mounting Adjuster Option \

Rubber Stopper

A\ Caution A\ Caution MXH
1.D t rotate th t 1. Use caution that the length of the bolts for mounting on the body and ————
- J0 not rotate the screw set on the bolts for the table is different from each other in some models. MXU

o bl . . Stroke adjuster at extension end (AS) of MXQ6 and 8 has the different length of a hexagon socket ————
This is not an adjusting screw. Turning it head cap screw for mounting on the body and on the table. Use sufficient care for mounting. MXS
could cause oil leakage. If assembled by making an error in length, it could cause looseness or lead to malfunction. R

2. Do not scratch the exposed
portion of the piston rod.

2. Follow the table below for tightening torque of mounting bolts.
Insufficient torque will cause a decrease in the positioning accuracy and lead to malfunction.

Durability could be degraded and lead to

bottom of shock absorber.

return defect. Stroke adjuster at extension end (AS) Stroke adjuster at MXF
Turning the Model Body mounting section Table mounting section retraction end (AT) —
bottom screw Thread size| Tightening torque (N-m) | Thread size | Tightening torque (N-m) | Thread size | Tightening torque (N-m) MXW
Piston rod is not allowed. ! MXQ 6 (L) |[M25x6 0.5 M2.5 x 8 0.5 M2.5 x 6 0.5 —
} MXQ 8 (L) | M3x8 0.9 M3 x 10 0.9 M3 x 8 0.9 MXJ
Damage is not allowed. l MXQ12 (L) | M4 x 12 2.1 M4 x 12 2.1 M4 x 10 2.1
3 MXQ16 (L) | M5 x 16 4.4 M5 x 16 4.4 M5 x 12 4.4
3. Shock absorber is considered a | MXQ20 (L) | M6 x 16 7.0 M6 x 16 7.0 M5 x 14 4.4 MXP
consumable component. When 3 MXQ25 (L) | M8 x 18 18.0 M8 x 18 18.0 M6 x 18 7.0 —
energy absorption is decreased, | MXY
replace it. + Shock Absorber 7MTS
Applicable size | Tightening torque (Nem) 3 A Ca utlon -
MXQ 8 (L) 167 } . ;
MXQ12 (L) : : 1. Use caution that the length of the bolts for mounting on the body and
MXQ16 (L) 3.14 | the bolts for the table is different from each other in some models.
MXQ20 (L) 108 : Shock absorber at extension end (BS) for MXQ20 and 25 has the different length of a hexagon
MXQ25 (L) : ! socket head cap screw for mounting on the body and on the table. Use sufficient care for
' mounting.
i If assembled by making an error in length, it could cause looseness or lead to malfunction.
Service Life and Replacement 2. Follow the table below for tightening torque of mounting bolts.
Period of Shock Absorber : Insufficient torque will cause a decrease in the positioning accuracy and lead to malfunction.
| Shock absorber at extension end (BS) Shock absorber at
A Cautl on ; Model Body mounting section Table mounting section retraction end (BT)
| Thread size| Tightening torque (N-m) | Thread size| Tightening torque (N-m) | Thread size| Tightening torque (N-m)
1. Allowable operating cycle under MXQ 8 (L) | M3x 12 0.9 M3 x 12 0.9 M3 x 8 0.9
the specifications set in this M§81§ 23 12 2t M x 12 2t M 10 2
. w X . X . X .
catalog is shown below. i MXQ20 (L) | M6 x 18 7.0 M6 x 20 7.0 M5 x 14 4.4
1.2 million cycles RB08CIO MXQ25 (L) | M8 x 18 18.0 M8 x 20 18.0 M6 x 18 7.0
2 million cycles  RB100J1 to RB1400
Note) Specified service life (suitable replacement Metal StOPper
period) is the value at room temperature -
(20 to 25°C). The period may vary | A Ca ution
depending on the temperature and other
conditions. In some cases the absorber | 1, Use caution that the length of the bolts for mounting on the body and
may need to be replaced before the | . . .
allowable operating cycle above. 1 the bolts for the table is different from each other in some models.
; Stroke adjuster at extension end (CS) of MXQ6, 8, 20 and 25 has the different length of a hexagon
Applicable size Shock absorber model ! socket head cap screw for mounting on the body and on the table. Use sufficient care for
MXQ 8 (L) RB0805 | mounting.
MXQ12 (L) RB0806 : If assembled by making an error in length, it could cause looseness or lead to malfunction.
MXQ16 (L) RB1007 © 2. Follow the table below for tightening torque of mounting bolts.
MXQ20 (L) RB1411 | Insufficient torque will cause a decrease in the positioning accuracy and lead to malfunction.
MXQ25 (L) RB1412 1
3 Stroke adjuster at extension end (CS) Stroke adjuster at D'D
! Model Body mounting section Table mounting section retraction end (CT)
: Thread size | Tightening torque (N-m) | Thread size | Tightening torque (N-m) | Thread size| Tightening torque (N-m) |
} MXQ 6 (L) |M25x6 0.5 M2.5 x 8 0.5 M2.5 x 6 0.5 -XO
1 MXQ 8(L) | M3x8 0.9 M3 x 10 0.9 M3 x 8 0.9 —_—
} MXQ12 (L) | M4 x 12 21 M4 x 12 2.1 M4 x 10 2.1 Individual
| MXQ16 (L) | M5 x 16 4.4 M5 x 16 4.4 M5 x 12 4.4 X0
3 MXQ20 (L) | M6 x 16 7.0 M6 x 20 7.0 M5 x 14 4.4
; MXQ25 (L) | M8 x 18 18.0 M8 x 20 18.0 M6 x 18 7.0
131

2 S\NC



Al

Series MXQ
Specific Product Precautions 4

Be sure to read before handling. Refer to front matters 42 and 43 for Safety Instructions

and pages 3 to 11 for Actuator and Auto Switch Precautions.

’ Caution on Handling Functional Option \

’Caution on Handling Symmetric Type

With End Lock

With Buffer Mechanism

/A Caution

1.Use 2 position, 4 or 5 port

solenoid valves.

A malfunction may occur with a control
circuit that exhausts from both ports,
such as exhaust center 3 position
valves.

Recommended pneumatic circuit

l L]
I

Air slide table

ML/

W

2. Be sure to use meter-out speed
control valves.
If it is used in meter-in speed control or
without a speed controller, it may result
in malfunction.

3. When releasing the end lock

manually, be sure that air
pressure is released.
If the end lock is unlocked while the air
pressure still remains, it will lead to
damage a workpiece, etc. due to
unexpected lurching.

r How to Unlock the End Lock
= Before proceeding, make sure that there is no
residual air pressure.
(1) Push down the lock piston pin.
(2) Slide the table forward.

132

/A Caution

1.1t must be oriented as shown

below.

In horizontal operation, the buffer may
travel the stroke length and activate the
auto switch depending on the load and
the speed. Therefore, adjust the speed
according to the load.

Horizontal use

2. Auto switch with buffer function:
Refer to the following table for
the proper mounting positions
for detection at stroke end.

Normally OFF
y.\l detection

L — ]

ERERE %
%@ﬁ%f

%

Normally ON
detection

* Adjust the auto switch position according to the
load and the speed.

T

(mm)

Model A B
MXQ 6 (L) 2
MXQ 8(L)| 25
MXQ12 (L) 4 3
MXQ16 (L) 5
MXQ20 (L) 5.5
MXQ25 (L)| 10

N

SVC

/A Caution

1. Maintain a minimum spacing of
at least 3 mm if standard style
and symmetric style are used
side by side.

It malfunctions if standard style and
symmetric style are used close side by
side.

Allow a space of 3
mm or more for a
side by side
mounting.




	MXQ, Air Slide Table
	How to Order
	Specs
	Theoretical Output, Mass, Option Specifications
	Table Accuracy, Shock Absorber, End Lock, & Buffer Specs, Applicable Auto Switchto Buffer
	Table Deflection - 1
	Table Deflection - 2

	Dimensions - MXQ6
	Dimensions - 2
	Dimensions - 3
	Dimensions - 4

	Dimensions - MXQ8
	Dimensions - 2
	Dimensions - 3
	Dimensions - 4

	Dimensions - MXQ12
	Dimensions - 2
	Dimensions - 3
	Dimensions - 4

	Dimensions - MXQ16
	Dimensions - 2
	Dimensions - 3
	Dimensions - 4

	Dimensions - MXQ20
	Dimensions - 2
	Dimensions - 3
	Dimensions 4

	Dimensions - MXQ25
	Dimensions - 2
	Dimensions - 3
	Dimensions - 4

	External Dimensions of Adjuster AS/AT
	Dimensions of Adjusting Bolt/Rubber Stopper, How to Order Adjusting Bolt/Rubber Stopper
	External Dimensions of Adjuster BS/BT
	External Dimensions of Adjuster CS/CT
	Dimensions of Adjusting Bolt/Metal Stopper, How to Order Adjusting Bolt/Metal Stopper
	Construction
	Auto Switch Proper Mounting Position, Operating Range
	Specific Product Precautions - 1
	Specific Product Precautions - 2
	Specific Product Precautions - 3
	Specific Product Precautions - 4
	Model Selection - 1
	Model Selection - 2

	Series Variations & Options




